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�� 
    �����������
 ����� ���� ��� ������      ���� ������� ������ 
�����!���    �"�� ����������� ���"� ��#�� �   $����� �%�& �	 �..   '(���)�"�� ��� 
  '��%�*�Fermi.      �����!�� ��� �+ ,����    ��- �#��/�����   %(�/ 0��1� ���/&�

�� 2����� 
��3��� ������ �Potential wall %(�/�� ��� �	 �� ��� ��- #��!�� � 
�3��%�� ��� 2���������������
 $���� ��� 4	 ��5�� Fermi #����� ��   2��6

	   7##� ��!���� ��#!� � 7��
� �    �5����� �� �Isotopes.       '�� ,���� ��#!� ���� 
 38�� #�����         ������ '� �3��� �	 ����#� 23
� ����������� �����! �	 ����   '� 9
�� 

   �����&6 ,��� ������� ���β           ������� �	 ������� ����� �)� �:
 ��#!� ,���� A� 
    '��;��� ##��� ,����Z  �"���  ��   ��#!� ,���� #/�� ##�
  <�	 ����������� 
#�5�


    ��!��#=�� �#�� $��
   �������� ��� ���� �1� ����3��� ����    �� '(��)�"�� ,���� 
'��%�*� �5+�Fermi   7##�� #!�� �5�� 
��������� �#��� <����
�1� '��  ��� 

      >�(����� 0��"� '��� 
��������� �#��� ����!��� #�����     �#����� ���� �� ��   ��� 4	 � 
Uranium �!����� #����� ���� �'�� #����� �� ��##� '� ��
 #�!�� '��;��� 92 

2�6 93�            ����� ���� �	 ?!� �����������
 ��3�� �!��� �!����� #����� ��� $��� 
	
��������� ���� �� �38�#����� ��� �����  Transurane.   

1.16 ������ ��	
�� ��

�� Otto Hahn 

 '����+� '����� 9/�
�� @�! 2�/O .Hahn.   
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�8B��    ��� '� �1938           ���
�1� '� ���� ����� ,�� '� ������	 ��5�� ����
 '� � 

    �����������
 ���38�� 
��������� �#�� ��C5��D     ������� ��� �!����      ������ ?�!� �	
  ��3�  �6            '������ 9/�
�� 2�6 <�E� #��� ������ ��%&��
 F�1� �� ��O.Hahn 

 ,����F. Strassman� �+ ������� ������=��� �����
 �#!� � 2�� ����������� 
7
��3� �������� ����� 2�6 
��������� ���� ��%&�� 
��������� ������ �	 ,��� �#!�� 

          �=�GC��� ������ �� ���%�� ���� ��"��� ���% ,��� <�
�� ��%&�B� ���.   ,����� 
         ��#/� 
��������� $�� �� ���� ��%&�� ����� �� '� �=;     �#���� A� �=���"�
  �=�	

 7##� �8
�            ���������� ��8G8 �	 ����8� ##��� ��
 ��/�� ����������� ��  .  �����
 ��� ��&��B�	!�"� �
�:�5�1��� ������ ������� @��)�"�� 
�#� �.  

        B ������ ��"� �	 ��%&�� ����� �:
 ��3� ��� �  �5/6    F�5��� 0��% �� B
     � �� ���3� ������� %�3��� �	���38 �#�� ����   ����% ��#�3
 ��%&�� ������ ���� 

   ����� 2�6 ���� ����������         �##�� ���� ��)���� �"��1� ���8� 
���	 2�6 ,���� � 
  '��;���  ����!�     7#�!�� ��� 4��� '��;��� ##��� 4����� 7���	      ���(�#
�� ������ '� �


��������� �#���.   

16 . 2 ���������� ����  Uranium  

   ��� ��          ������ ���� ��%&�� ����� #�!� H���� 2�6 
��������� �#�� ��&���� 
          ))3�� I�!)�� ����� �8� ������ �%��
�� ���E3�� JG
� ������ 
��������� �#�� ����

����-� ���5��� #��� ���3� �8� ��(������� ���E3�� '� ,���� ��1"��.    

6        <��� 0��� ��- �#�� 
��������� �#�� �	 E� K�
'�   ���     �	 <��)� �#���
���<���"��� � 4���� <���8� ρ = 19,04 gr/cm3 ،   ������	 ارة�
��وب آ��� ��� 

 ������ <"&��� Klaproth���+� '�#�5�� '(��Cº �����/ �!�# � ' ����1132وي  
 ��� '�1786� �#���� ���� 	 ����Planet Uranus <�� F�1��� '�#�5�� ���� 
 �� �#��Uranium Oxide =U3O8� ��#��+� ����� � � #!�� �5���� ��� '�

7
��3�     4���� '��5�� 
��������� �� ���� � ��  30 6  2�60 %    #�!�� �5���� ����
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���
 ��&
 ,���4 Crystal  �� �#�� '�  Carnotit � �7
��3� 4��/� �#���� ���� �
    ?��3� �� 2��50 %   � 
��������� �#�� ��	      �� �#����� ��� #�!�� A������ �
�  #�!

      �����&�� �����	 ���� '� �5�1  '�  �#��Canada      �� %�/� '� ��3���	 '� ,���� � 
Congo ����� '� ,���� �#/���� ���B���� � 	 '� ���� ��#�
�� �� #�#�� �������

        #����� �� %��1 A� �5���� ��� #!� ����� ,���     '����"�� '(�������� @��! ��� 
Peligot  ��� '� 1841    5 �#�� 2�6 <
51� M��       '������ '(���)�"�� �#�
 ��� 

Mendelejew #�       �
��/��� ������� <���� �)� ���� �N:%1    ���� �� 120   2��6 
240     #��� �����3��� ���8��� ����
�1B� #�
� �      �������� @������� ����!� �� �#�� 

>���� 
��������� �5��� ����-� ��%&�B� ������>��;�� � ��� ��%&�B� ����� ��� �
!��	 �=����  �#�#� �5��� �Uranium Isotopes� ��� 0��% �� �!��	 '��� 

    �� ����������� �����!
 
��������� �#����  ������� ���%�� .    �!����� �5����� ���� 
  K�
 �� �=E�
 �=��)��
 0��"�����
%�� '� �#�!�� ,��� �=�6�  =����  ��5��� 

��� 
���������1��%���� �"������ ?�/ �(����
 �������� ��:    

99,2739 % 92U
238 + 0,7205 % 92U

235 + 0,0056% 92U
234

 

              ��5����� ���� $��� 2�� ����������� ����8:� P�& Q�E�� '� �1#� ���
                 ��5����� ���� $��� ����� ��6 I����*� ���"�� 
��������� #��� �� ��������

�����������
.    

1 � 
��������� ����  92U
238

  

��� 
�� ��=;*� '"5��� ��%&�B� �Cross section  �5����� ��=� 92U
238 

     �� �����������
 ���� ��� ��8:� �/���       ����������� �	 $�� ��� ��"����� ���%�� 
    � 
=����% �#� Q���	 2���     ���5�
 ���=;� 4��� ��%&�B� ���� ���"� ������ 


 2�/����'�����:  
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     ���� �� ��	
 ��
 �� �����  ���������          ������� ���	 �������� �������� �
������������! "�� �    #������� ��$���� %����� ������� &     �������� '�
��� 

  ����� (������ %�����&     ��) ������� '�
�� ��     %������ ������� *"+	��� ���
  %+�,��Total. -
/� &     �������� ��������� ����� 0� &    �1���� ������    ��� �

  �	 ������� ��������           ��� ��
� �� 2,� '�
� ���� ���
�� 3��� ����������� �
            ��	 ��
���� ��,� %4 (�,���� ��	��� %����� ������� ���� ����5 �� #$��

10 eV 67�1000 eV &� 0
�� 8   ���� ������� ��$��� ���� �� %4 ��+�9�� 
5
  ��
���� 29� �����������:          7������ �";� '�
� ����5 �� �+���� ���� �
6  ����

    <��	� ��� �
6 %����� �������  <��=� �� �     ����� ��� %4 ��(����&     -
�/ ��,���� 
����� ���� 7�� �/��� �� >���9� ����+�� 7� &?	�9�� �"���
 �
��	 @�� 0�1 MeV 

        ���� %��� ������ ���� ����� 7�� ����     ����5�	 (��� ��/� ������ ������
     ��� ������� ����+�� -
/ *"��� A���+�       �(��� ���	 %������ �������� ���+	 �

 *���������92U
238������������ &������� ��$���	 �"���� -
/� :   

A�      ������ 7�� �4�
$��� ����������� �        B(��� ��$���� �
/� ������ -
/ �� �$��
 ��	 �((�� �
�� 29�10 eV 6 7�1000 eV& ����+�� -
/ ��� � �(�(, ���� C��

  D���6 ?��� ��  E�=�� ������F� &          �"��9�� �+��� �(��� 7��6 ����� -
/�  
Neptunium    �"�	 '�
 (+	 ��� �          -
�/ ��� C���� ������F� ����G� ����� �

�� �(�(, �(�� ����� ��;��� ������ ����+�� �Plutonium. (����� �����+	 ?�+���� 
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    J3/B T��#�� '� A
�� ��&����� � �U     ������ %�3��� ����� '� 23
� �   $�� �� �����

��������� �#�� U238���=;� �������� ���� �������� ��#�����
 :   

92U
238 + 0n

1 → β→ 93Np239→ β → 94Pu239  

B�   ���/�� ��� 
="��� D   �� ,��� ��� �   ����3��� ���������   �����    �	 �  #�&��
    <�	 �#�&�
 #�53�����  <���� �� A�E�   ,���� �     � ������ 2�� T����  �� ��/�

  0��%������      � ����� A� �C5� <���% ��=�� �  ��� V
5�     �������� ���������� 
>����/�B� �� � 
��������� �#�� ��%&�B ��8:� �#�� #92U

238.  

C�     ���/ '� ��	   ��6  ���%���      
��������� ��� �%& ��������� Q92U
238  �   '�"

    ��"1 ��%&�� 9#/� ���/�� ����          ���% ����� ���� 9#�/� ������ ��%&�B��  �
>#! ��"��� ������������.    

2 � 
��������� ����  92U
235

  

          ������� Q��!��� Q���� �� '"5��� ��%&�B� ���� ���"� ��� �=;��    ��� 4	 
��   
��B�
 2%�� 4��� Q��Total Cross Section    
���������� �#��� �5���� 

92U
235�    �� ����������� A� ��
�3���
 ��     ��� �	 �=; �##����� ����%��    ��- ��� �
�

           
���������� �5�� '� ��%&�B� ����� ����������� ����% ��
 �#�!��92U
238 

  7/E�� $�� ����    �;�� ��� �6         '"5���� ��%&�B� ���� �	 %3���� 2�/���� %1 2�
бs = Scattering ������ ���� ��!	 � '"5��� ��%&�B� ���� �	 $�� ,��� ���� 

   A"��� ����	    ���� �5�� '� ��� �8�  
�����92U238       %�3��B� ����  ��� �� ���   
Catching  Cross SectionP�%� .     
���������� $��� �	 2��� �#� �� ���� 

U235 ��    ����������� 0��% �� ���=�

       ا�"�ار���    &%� ���������� $��� ���
U238.  

    7E�	 ��� �=;� 2�/���� ����  
���������� $�� �	 ,��� �U235  ���  ��� �%&
 ��������� 0��% ������� ���     #��
� ������/�� ������������ 0���% �� ,���� 

B�1�
����       �5�1 �"�"1�� �����/�� ����������� �:
 #!� �����3��� �  � #�!	 	 �#�
������� ����������� �� ��%&�G�.  
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      �������� �	
�����
�� 
��� �� �	��
���� � ��
� ���� ��    ���� �� �
� �
 ���� ��!������� ��"	�#�$��%�	$��� &' �	��
�� ��	������
�� .   

16�K�3א����������
��
�����א��א������ �

        (	� ��!
 �� )��*+ )�, �,�� )��
�� 	
-�� �-/0    �,��� �-1� �����  ��  23�� )�,�	
     �'��4� �+	� ��	� 5��,�� ���� 63�0         	1	
778� �� 	1	
��8� �-/ )�,�� 9-1� 

    ��� �� ����	�/ 
�' 6�0 1	
���� 	  �� 6�/         �-81 �� )���, �*� )�7� 	
�#3� ���
    5��,�� 	:��� �, ;��� �*���0      )��
�� 9-1 	�� �,�� �    - <�-8!� ������
 	:3�7� 

 �4$��� ��	�0  -1 	��� �   ������
�� �     8' �4$��� ��	� �4� �3=>  -81 ��  �����8�
�� 
 )��
�� ����7�� �� 	�, )��
�� �,� ��*� ��	�� )�, �3�, 	:
Elastic Mass ��� 

� 9-1 )7�7=�� )��
�� ?�
� 2�-�� ��#�#�1�� �	@�
 ?�
� ��3�4� 92U
236 �� �=�
���

��@	���� ���	��3� ��7�7� A�	!� 5�	�� �,�� )��
��� ��	��� ������
�� ���.   

  

  

  

  

  

      ���	=�/ �
�� 23�� ��	,�� 	:3,�� )��
�� ��0      �	8
�����
�	� <-!�� 
��� ��� 
     ����$� ����� 6�/ �,��� �-1 B�!
�     8�:
� B�� �, ����� �	  8C��	=�/ 	.   ���8�� 

�:,%���	   ��'	
�� �
���� �$
 � ���� 	����    �:@4� �� �4$��� )�!� 	   9-1� A4��� 
              �8� �$�4@ D�
�� 2�	�� �
	�� ��,� 	�� ����� E7�� D�
�� �	��
� 5� ��3�4��

  F�
gu �� &� 3�, �:	   ����
�� A          �83�!G�� D�
�� �H� ;��� 2�-�� ���!��� ��I  �8�I 
���,� ��   �� �,�/�313�=�   �� �,�� �,���   8elliptic ��,� :���!� 	   1�	��8
� �� 	 

�   �� D�
�� �� ���� :3,� &	 5��, .           &8$,� 9�	��8
� D�8
�� �8� �,��� �-1� 
  ������ �$�$� �	
�����
��0  -1 �� �     	�� 5������ ������
�� �     �8�#3� )��8
�� ��7
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5�	�� )�� ��'	, 2�	�� �� ����� ��	� 7 MeV0 � �$�$� �	
�����
�� 
��� ��
   :
� �4����� 2�-,� ������	        B��
������ �G� ��4����� �+	
4�� D�
 �	��
� �,�� 

U2350 �4
�+��� �+	
4�� 2�-,� U23302�-,� 239Plutonium Pu .   <�+8��
�+
� 9-1 ��	$��� ��3��5 U235 and Pu239  �	8
�����
�� �:= ��   �8�������

    �	�
�
��� &' 	1�:J
 �� &' D����� )��+  �� �	��
� 8 Pu239  0  �	��
� 2�-,�
��8 U2356
�
��� &' 6
���� )��+�� &' .  

  

  :� &$+
�� �	��
�� ��	� 	
1��-������ 774� ��� 6�4� ��
G�� 0  	8� �-1� 
  8����!� ���	�8��� �4$����� ������ ��� �	
�����
�� 2�-, 9�:J� 	1,1 MeV0 

   ��,���� ��	��� 	:� 7�+!����.   	
1       ��� �4����� �	
�����
�� <-!� ;����
 2�-,
 ���!����� ����
�� �� D�
��gg0 �� �+
� �	��
� �,�� 2�-,� Thorium 232 

    :��	� �	
�����
� �'-!� 2�-, �,�� &4�����	�� �� �	"��� 
�$� MeV  9-81 ;�� 
             E8�	��� 97=� 	� B:��� ��� �$�$��� D�
�� ��� 2�-, ;����
 �4$����� �	�	���

���  &��Fljrow       B��
������ �+
� �� 97�	�� ;� U235      9�	��8
� �8,���� ��
 �!�	+ ��7�0         &"	!3� &4��� &��- �	��
� �� 7�+!��� 5� Pontoon .   57�8��

 �
	, &��� ��3�4�� 9-1 K������,73� &������ L�' &' �3"��� 7�9� ��	$��� &' 
   &
	���� 5��
���M�
��0   �@'���   ��  )�,�-�� &' 	:�!�
 NJ$�       �8�43�� �	8��� �� 	
 ������� ��4�����0        B��
������ �+
� �	��
� ��3G� (	��>� &$�,
� 92U

235  ��� 
���	��� ��7	4���:  
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                                         35C٭
150

  

            +  2.0n
1 + 198 MeV     92U

235 +  0n
1 →  92U٭

236 ↕   

                                 37Rb٭
94

  

               

                                    56Ba٭
144 

       92U
235 + 0n

1 → 92U٭
236 ↕    +  3.0n

1 + 198 MeV                   

                36Kr89٭                                             

��� �+	
4��- ��=
�� #����4& 1٭��3 �� �+	
� .  

'�      � �=�
��� D�
�� �	��
� �	�3�� �, &P    ��"	��:,�� �
���� 2%��� ��
	� -�0 
      ��I D�
�� �	
�� 77� 5�	�� �	��
�� B	��� 7�7�� �
�� F��=� �� D�
 2�-��

�� )��
�� B	��� 77� 2�-�� )���
�NucleonsB�!�� �$
� �	��
�� ���� 74� 6!�� .    

16�K�4א�����
��
�����
�����א��א��א���� �

/�6 �Q  ����!� 7=�� �  	250 ��+
�� Nuclide �=�
� 	  :�3� 	
'�4� 0	  81� &   �8� 
�+	
4��  �� 7�����Isotopes��  �177� &	� &�	J
�� 	� 5�	���� 2
#�� )7	�� �GZ 

= 30�� )7	�� 2�-,� Dysprosium Z = 600 ���-�� ��,�� �#� 2�-,� A 9-:� 
      ��� 	� ���!�� 5�	�� 7�����70 /  6�170 �     �	��
�� �� �=�
��� 7����� 9-192U

235 
 �� ���     B� �������� �	
�����
�� 
�        ��8:J� �� B,����	� �=�
��� 7����� �, �:J

"��� ���
�	�� 6
�
��� &' �
��� �����	��� ��+�	� �1	J��:  
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   �
 ��I �	��
� �,��5�  :� 7=�� 	  �+	� �	�
�
� 0      �	��8
� &' 	��� U235 
  �=�
���	���	  :� 7=�� 	 �
    )7�7� �	
�����      81��
 &8��� �+	
4�� �� �G,	   )78�	= 

Stabile ������            �83�!G�� D�
�� &' �	
�������� �	
�����
�� ��� ���
�� �� 2�-�
   �� 7����� �� 63��� 1��
 &	 �!G�� ������ 0   �8
� E8�
� �	��
� �, &' D�
 �-:�� 

����!�       �	
�����
 �G%G �� ��
G� 774�� ��� �	
�����
 	0    �84� �-81�      78��#� 68�/ 7
      RS3� B� 	:
� �=�
��� B	���� &' �	
�����
��  T� ��         68�/ �8��	� 6!��� 74� �#U  �8�

�	���� .  

 7�4� ������ 6�/ �4�� D�
 (	
�� B	��� �=�
� �	��
�� ��3�� &' �
�Radio 

Active  �	
���,�V� &�4� 0   �7�7� ���� 2�-,� �      �	8
����� 6�/ �	
�����
�� �� 
�	� 9�:J
 	� ������	��� ��7	4�:   

0n
1 + 1p

1 + -1e  + ν  

   ���� 9-1 &�4� 2�-,�   �	�	4�/ �,�� 	:��	� �� 	γ0 �=�
� )7�7= 5�
 2�-,� 
 �7��	� ������    )7�	= ���	G D�
 6�/ ?0        �	��
�� W-��
 �	�3�� &' 9�:J
 	� �-1� 

&�	���:    

 55Cs٭
140→56Ba٭

140→57La٭
140→58Ce140      Stabile   

                92U
235 + 0n

1→ 92U
2.0n +     ↨ ٭236

1                            
               

 37RB٭
94→38Sr39→94٭Y٭

94→40Zr94                Stabile  

  �=-��
 �:J
 	
1	 C+	� 	          B�8�
������ �+8
� �	��8
� �	�3�� �	�
	,�/ �,� 
U2350 �	�	4�V�� �3��@���� �=�
��� B	���� �+	� )��+��  �G4�
���.   
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   �� 	
1 �,-
 �,��X" C�:� 		      )78��#���� �	
�����
�� �� L3��
 6�� 0     �8, &8' 
 �� ����� ���H� �� ��=H� 
��� �� ��$
 �� ��#
V� �-1 E7�� ��	���1min 

To 0,05 Sec������
 B�7�+� .�H� �� ��=H�� � 5�	�� &��� �	
�����
�� 9-1 �
0,75%  &� �1 (    � (	�#�$�� &' B:� ����
�.        �,8� 683� �	��
�� K�� ��3��� 

N!�� ;��� ��!
3� W-��
	.  

16�K�5����
א����א���א��� ��א���������� �

            �	�	� �� �	��
�� ��3�� �� ?�
� 	� K��� &$�,
 <�� B�!�� �-1 &'.  9-1� 
             D�8
�� �8�, &' L!
�� 
��� �� 	:���� 	1�	:J/ ;����
 �	�	����5 Δm. 

�
������ )��
 �	��
�� B� 92U
235  ��8� 5�	�� ��	� &�4�198/  68�208 MeV 

&�	��� W-��
�� ���:   

                <-!�� ��3��      ����
�� ��,3� ��"�7��� B�!��   ����
�� ��,�� 77�  

 B��
���� )��
235                        235                 235,0423  

                   7��� ������
� <-!��  + 1       +      1,0087             

  ___________              ______                                          

                        �	��
�� ��� B�!��236,0510                       236   

�	��
�� 74� �=�
��� ���	G�� �+	
4��:   
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 40Zr94 = Zircon Nucleon         93,9060                         94    

Cer  Nucleon  =       58Ce140     139,9044                       140            

 + 2. Neutrons Free               2,0173                           2  

 ��	            ��%&�B� #�
 S��__________              __________  

     Q��!���235,8277                       236                                     

4���� ����� F3�
 0�"��:  

                     Δm = Σm - M [ME]                              

              Δm = 236,0510 - 235,8277 = 0,2233 [ME]  

            Δm = 0,2233 [ME]                                           

4���� �#/� �� ���� ��W�ME = 931 MeV� W �0,2233 �#/� ���4� ���% 
4����:   

E = 0.2233 . 931 MeV = 208 MeV  

 ��#��� 0��% �� ���� 	������� ��#����� ���%�� 4���� ���&��:   

E = Δm c2 = 0,2233.(2,99793)2 =  200,6275  MeV       

 ���%�� �����          
��������� �5�� ��%&�� ����� �� �!����� ���%�� 4	 U235  '��� 
 �=����exothermic� 
�3� 6'����� I������ ?�/ 
���	 �#� 2�:  

4���� ����/�� ��%&�B� ���"� ���%:          168 MeV         

4���� ����3��� ����/�� ����������� ���%:   5 MeV               

��% �����&6 �γ4���� �8�
���� :               5 MeV           

 �����&6 ���%γ �����&6 A� ��(�3���� β   :       13 MeV       

 T��������� ���%ν9          :    ���وي MeV                         

4���� �
�3���
 ����%�� Q��!�: ___________                       

Q��!���    200 MeV                                                                          
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C�� ����� 4����� ��%&�B� �� �!����� 0���/B� ���% ��
 ����3��� ��#�	 ��6�
     
��������� �5�� �� #/��U235          
�/"�� 0����/� ��� �!����� ��#����� ���%��� 

4�!/��� ����� ?!� 	����� JB�] 
��������� �5�� �� #/�� 
��- ���� �)�   

������:   

  >���� ������� ��  >�3�
%�� �         ���� ?�/ �#�� 
��- '� #!�� <�:
 �	  ��#����
     4���� ������ �� ##�..6,023.10+23 ��� �      ��%&�� ����� '� �#�!���� ���%��� 

��������� �� #/�� 
C��U235 ������� ��#����� 4����:  

E = 6,023.1023. 1000gr 200 MeV / 235 gr = 5,1.1026 MeV  

             �����
 �=�
�3� �:
 A�%��� 
��������� �� 
C�� ��%&�� �� �!����� ���%�� ����
   ���3��% 2�� 4�!/�� 
/"�� �� 0���/�:   �� �#�/�
 �����3��� 0��% �� 2��+� 

Calorie ��!�� �#/�
 ����8��� Joule ��3�� 6J��:   

1 eV  = 3,83.10-20 cal     
5,1.1032 eV  =  X cal                                                

       x =  5,1.1032 . 3,83.10-20 / 1 eV = 20.10+12 Cal                   

             1 kg cabbage  =  8.10+6 Cal                               

  ��� 
/"�� ������    �� ����/ S��� 2�/ �
!  �#�20.10+12     ������ �#/� '� 4���� 

��-.   

                  20.1012 Cal . 1kgr / 8.106 Cal = 2,5.106 kg   

       ��!�� �#/�
 ���%�� I���6 ����8�� �3��%���Joule�      ��#�/��� �/(B ?�/ ��� 
4���� ��! #/�� ��(��)�"��:    

 1 Joule = 6,24.1015 MeV                                         

           X Joule   =  5,1.1026 MeV                            

5,1.1026 MeV . 1Joule / 6,24.1015 MeV  = 80.1012 J                 
1 kgr Cabbage = 32.106 J                                     
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������� 
C�� 0���/� ���% ����3��U235   %�� ��� S�����       ���!�� �#�/�
 ����
80.1012 J 0���/� �
�3� 2,5.10+6������� ��#����� ?�/ 
/� 
C�� :  

             E1/ E2 = 80.1012 J / 32.106 J = 2,5 .10 6 kgr   

    ���%�� ��� V
��   9#/� B   ��%&�B� ����� �� B6�     7��� '%�� ������� ��� �+ � 
7��
��   �����/ ���%� �=�� �    	 �=� ���%�� ����    ������*� ��#1� $�
� ����.   '� '�� 

        ����� ���� ,���� �	 %
��� ���% �� 0&�� �3�3/���     ��������
 ,������ ��� ��
�3��� 
 � ��(�������W ��� ��   ��(������ �������� 4	 � B  �      �� ��� ��#/� K�
 B6 $#��eV  

       �� '� 4����� ,������ �	 %
����� ���% ����  �Nucleons      0��"� ������ �����  
�G���� ��#/� �� �eV .  

16�K�6"#�#����� $	�"�א���
	��א �

16 . 1.6��	�
��� �
����� ��
�
 ����   

6    ���� ��%&�G� ��������� �3��%�� ��         ��� ��!����� ������/�� ���%�� V
�� $
  �������� ��%&�B� �������    '�� 
��������� $�� �� ��
� ##� ��%&�� ����� '� 

 ��5� ��� . �#/ 0�3/���    ������� ��� 9�      
���������� $�� 2�� ����������� ��3
U235      ������� ��� '� ?!��   <�	       ��%&��� %�3��� 9#/� ����
 ������� 
#%5� ����

�
� #!�� 
� �#�#! ��(��8 ��/ ��������� �8G8 �	 ���8� 0�8
�� <�
��.    

 ������� ����
 ������!��1 ���������� �!�/����������� �
 �8B� �� �8G8�� �	 �
��� 3&�� '�  8
�� �	 �       2���+� ��%&�B� ����� ��  ��    ���
������ ��������� �����

�� ��%&�G�2�	 � ��� 9#/� ���� ����
 
#%5� �	 ?!� 0&�� ������� �� �	 T
  %�3��B� ����� ������ * '"�� �#/�� ���� ��%&�� �����     ��� A�"��� ##�� 9�#/

   �����=�� ��&
 ��%&�B� ������  ������� �����"� �      ����"��� ������ �=���� ���� 
 $�/+�
 �	 ��������Chain of Reaction�    ��=; ��������� ����"��� ���� 

 ���5�� '� ������� ������� ���; I������������:  
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            ���� ������ 	
�� 
� �������� ������� ����� ����� ����� 
� 
������
 ������ �������: )  ����� ����  ��( K   
� ����� ��!� " #      ��
�$�� ��%�&��� ��'�� �

    �
� *�# ������ �
� 
� ������� +�
���,�
�� �-. �/�� �   �0 ��
�$��� ����� 1�
������ ����% 2���� �������:   

    �� +3� �4 ��5��4� ��# ..  
7%100  /��0 
����
� +  8
������ 19���� ;�   ��! 
�� 
    	��0� <%�� �������200 #  *�300 �
�        �=�� �4 ������� 	
�� 
� �
�� 
���
   ���'��� ��
����
��U235;         >������� +������
��� 
� ������� ��'�� �-7� ��! 

?%
�&�  �256 
����
� ; ��� � 140 �&4 +  4���� �0 +         @���� A��� B����� *��� 
��
����
��;�&���4 +�� 
� B
&%��� C�� �
D 
� 116 �&��� 
����
� + /���0� + 

?�������    �
� 
�         �� 
�� 
0 B
��'�� E��% C��4 �
� *�#100     *����� 
�����
� 
 B��'���0A%= 116 >������ ���'��� ������� ���� ��
�'� 

�/�� 

% B%����� K 

=  1,6  >����� ������� +�
��� �
� �0 ����� ���
 >��� �! ��! ������� ���� 
��� ���
�F���0 B/9/ :   
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 +��� :   B� S����� I�/�� ��%&�B�       ������� ���� ���� ��� �%1�� ��!"�	  ��
�
 #/�� ��K>1  .  

'��8�� :            ����� ���� ��� ��- B �����/�� ���%�� ����� S����� �
�8�� ��%&�B�
7#/�� 4���� �������� K = 1.  

9��8���:    B 4��� �/�E��� ��%&�B�     �"5
 9#/�    B6 ����     ����� ����� ���
 �������	#/�� �� �C5K< 1.  

1 ��   ������� ���� ���� ��� ���/�� '� ��	 #/�� �� �
�K > 1  

��! 2�6 ��! �� A"��� ����������� ##� ���/�� ��� '�� ��3� �	 A�%��� ��=�� 
  ���
 #!�� '��� <����
 0���� ��������� ���/ �	 ���10-9 sec To 10-5 sec 

            ##�� ,���� A"��� 4��� ����� '� ���!+� ��%&�� A
��� A
�� ����   ������������ 
      2��	 #/ 2�6 ��"����� ����%&�B� ���=�� ����
� 
8 � 3��%
 0�"��  �� ���#�� � ��

      ���5 '� #�!���� I������ ?�/
�� 75.        0�� �� 2�6 ������� ##� A"��� ��=�� 
4	 #/���� K > 1 � ��� '� ?
����� ����� ���� �a#3� 
� �;/�) #�!�� A
�� �/��

  �������G
)(    
�3�� '�� A
����������.  
���������� $�� �����/� �� ������� ��=
� 
   ��"��� ���% @�%�W
 �%&��� 7
��3�   �#�#/� ��- �.        ����% �#��� �	 �8��� �� ���� 
������� ��
�3�� ��!"�� ������4����� ���"��� ��� '���� : ��- ���"��� ����<
 
�/.  

2 �/�� 4���� ������� ���� ���� ��� ���/�� '�  7#� K = 1  

      J�
�8 23
� ����������� ##� ���/�� ��� '��    ����� ����   <�	    ��%&��B� ����� '�
       J3
�� ����� ��� �#�#! ��������� 0�%� �	 9�
���� �##� �     ��8G8�� �	 ���8B� ��
 . 

     M��� �=�� #/�� ������� ��� ����   ��%&�� ����� ���� �     ��38
���� ������������� 
   � ��#
 %3��� �#�#!��          ��������� ��%&��B� #�&� ����� �=���� ������� ���� ���"

  �)����� ����� �������� Resonant       �/��5 ����/�� �!����� ���/�� ��� �G��"�� 
G��"��� ��C&���������*� ��#1� ������� .   

 3 � ������� ���� ���� ��� ���/�� '��  	 #/�� �� �C5k< 1   
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    ��������� ##� ���/�� ��� '�     #�#��	 ?
���� ��=�� ��! 2�6 ��! �� �C5� ��
   B� �1� ��%&�B� ������ �� �  M���5 ������ ��%&�� 4	 ���/�� ��� '� S��� #. 
      ���/ ���/�� ��� �� ��3��6       G���"��� ��C&��� ���� �������� ��%&�B� #��-� 

 � �������W       � ������ ��%&�� ������ #�!� 
)B� 
=� <�� �=
 
�/�    ������ �� 4	 
����    @�&� ��� �=
 
�/���� ���.       Q���	 �8G8 2�� ����� ��� 
�/��� ������ :  ����� 

 A��� ��%&���        ���� 9#/� 9G8�� �������� ���� P�
�� �	 #��C� ,���� ��"1� 
 J3
�� ���        �5���� �#���� $�� �� ����������� %�3��� 0��% �� ��    �:
 ��3� ,���� 

    �3���� �G�	 �������� �������� ���        7#��! F��� �:
 A�%��� '��� �/
���� �#����
  �
������������ ��""1��� ������� #����� ��� '���� Moderators #����� ��� AE�
� 

       �/�
 A�%��� ��%&���� 
��������� �5�� $�� ��
 �5�����=��    I���6 ���
 
�/��� 
�/�
�� 2�6 �"�"1 2�6 ����� �� ������������=�
�� ��� ������� �� ��%&�� .  

  G��"��� '� ������� ����%&�� ������ #�!�� ����� %�3��� Q�
�� ?!� ������� 
�������:  

 A �    G��"��� ��C&� ���/ '��          4��%&��� ����"� 0��1 JB�	 ?!� ������� 
             ##� 2�6 ������� ���� �5� 2�/ ��"��� ��#� 2�� ##/� ����� ���� ������

 4	 #/�� �� 2��	K > 1.   

   #�
 ���              V
���� 0���% ��� ��%&��B� ��#� ���"� ��)�6 �	 K�"1� ,��
 4���� ������� ���� ���� V
5� 2�/ ��""1���
K = 1.   �	 ���� ����/ '�� 

  G��"��� ������ ����� ������� �         �	 ?�!� JG
�� �#�!���� ����������� �	 '�� 
     2�/ ��""1��� �� %3����         ���� V
5�� ��! 2�6 ��! �� ����%&�B� ##� �1 �

 �������	 #/�� �� �C5K < 1�  2��6 2��	 �� V!�:�� ������� ���� 
��1�� '�� 
	 �"�K< 1To K > 1 �J�
�8 V
5�� �)����� ���� �1:�� �
8� ������ ��� 2�/ � 

4����  K = 1 .  

B �       G��"��� ��C&� ������ ���� ,��� ������ ���� ������� �    ,���� <�+ 
    ������� ��%&�B� ������ '� 9#/�          ������� ��� ��!����� ������������ �	 �
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   2��+� ��%&�B��   �	 ��/��         ��#�
 ��%&�G� ��
�3�� �=�"� �#���� �5�� '� #�C
  �:
� �:
 
#%5�         �#��� ����������� �+ ���� ,��� Q��E�� ���� �#���� �� ���� � 

        �=���� �%���� ��/ ����� ����
 0�1�� ��#�λ  ���       ������ 2��� '�:�� ��
 5"� �=/�&�JG   '����� 
�3�� '� .        ����������� ��"5 2�6 #��� ��� 0�1�� ��#�� 

  ��(��)�"�� =�+ �#��/���� B  �  ��(�
�=� ��/& ,��� B�  �      $����� ���/�& 2�� �8R
     �� ����������� ��� ##� ���� �#�!����� � ' � T�=�        4��%&��� ����"� �	 ��8:�� 

      '����� �/�� 0��% ��� ������Mathematical     �:�
 �=;     ��(����
 �
�����
             ��%&��G� ���
�3�� �#���� 
�! '� ���/�B� 0��% �� ����������� �� ��(�E��

      >#! ����� �5���� V%� <!� 2�� ,�����.           #��
 ��� ��=; ��3�3/�� '� <���� 
B�1�
����   B ������ �C5� ��� <�:
 ������ 4��%&�� ���"� 4	 9#/� � #��� ���� 

  7��8� �+ ,����  ���������� ��          4	 ��#
 ��C5�� �#���� V%� <!� 2�� ��/�� �
��%&�� �	 ���"�.   

  �!�/�� ������ �	 �!�/�� ���/�� �:
 ��3� ��=��Critical Mass�  ��� �6 B
              ����� '��� ����� �� ���5� �;/� '� ������ ��%&�B �#(�3�� ������� ���/��

 
!/�� �%����� �� ���� %3��� ���     �& 0�%� ��� ������� ������ �=/�    
��3�� '� 
 A
����2.6 -16 
������� �5�� ��#�� ��3� <�/
 V��� 
� 4��� Q�E���� 
="��� 

U2357
��3� 4���� �!�/�� <����  �50 kgr�  ����%� �5� ��� ��&
 ����5� 
8,5 cm��� �����  I������ ���/ #!�� ������ ��=� �!�/�� ���/��� �!�/�� ������ 

 �#�#� ������  ������ ���  �	  ��   ���� '� #!�  �3�C��� ������� A!�     #����� �� ���� 
� 2����/�� ������� ���� �/�.  

 16. 2.6 ����
��� ����� ��
���� �
��  λ ������ �	
��� ��
��   

           '�� ������������ �� ��8� ���/�� �	 Q��E �� 0
���� 
�3�� '� ����� #3�
 ��%&�B� �������        ��&���� ��5 Q��E�� �	 ���/�B� ����     '�� ������������
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���"� ��#
 �#����.   

           2��/ 
��������� ���� 
!/ �
�� �	 ?!� ���/�B� �	 Q��E�� ��� A��� 2�/� 
�����           �	 �� 
��������� �#�� 0�1 ��� '� ������� �� �    ��� $#�/W
 
#%5$ 

 '��� �
��%��� 0��%�� ��% ������ �#������ �#���� '� �������� �=�%3� ����
 
#%5
  � ��� �� �=���� �#���:      �%������ ��/�� ������� ���� λ        '��  JG
�� ���� '��� 

 
�3��7.12 ������� ��#����� 4����� :   

   λ = 1 / б NL   .NL = NA.ρ /A                              

   λ          =�$%&'(ا�"�ة ا� �)��(ر ا���	    

б              =*�+�  ��	. ا-�,$�ر ا�

NL         = 
��������� �5�� �� ?��� 
��� '� $���� ##�U235
  

  1 =         #/�� ��� 
��-  

ρ             =  م&;�U235ρ = 19,04 gr/cm3آ>�(� ��+� ا�;&را
  

 A         =
��������� �5��� ������ ������ ##� U235 

          NA = ����	 ��#���NA = 6,023.1023   

>���� ������� ��'� <�:
 �   ��� 
���- ��� Gram Atom   ����� ?��/ 
Avogadro � $���� �� ##� <
 #!���������� ��/G%5B� 4���:    

                             NA = 6,023.1023 .1gr  

                ?��/ $����� �� ##� #!�� �#�� 
��- �� '� ��3�  �������� ;"/�� ,����
������� ��
����:   n = NA / A                                    

     ?�/ #!��� �/� $���� �� ##� 
!/�� ��� '� #!�� �#�� ?��� 
��� �� '��
������� ��#�����:   

           NL = NA.б / A                                   
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����  ��� 	
� �
�  ����� ��� �����      ��������� ������ �������� ����� ���� 
 ������� !��������
�   ����� �"�� #�  $����U235      ���%�
� ���� &��� !'��� #� 

 &������ #("���5)�* б = 5.10-24.cm2   �  #("���� ���%�+� )�* ���� �,�
&����: 1Barn = 10-24 cm2.  $��������� �"�� ����, ���,�U235 � &���ρ 

= 19,04 gr/ cm3�  -   #���� ��������� ����� ������� ���� ��� )�  ��/'��0
1����� )�������� $��������� �"�� #� U235 �������� �������� &����:   

λ = 235 gr /б NL 

λ= 235 gr.cm3  / 5.10-24cm2.6,023.1023.19,04 gr =4,1cm 

  ������ ��	
�� �� ��
���  

 ��2���� ��� )�            ����� )� �,%�� &��, �/�3� ���%�+� $������� ���, ����� 
   $��������� �"��U235 #��"�� �   �4��' �5"         ������ �������� ����� )� �λ 

!��������
��          )������ 6'��0� $��������� �"��� &��,�� �,%�� ��4 ����   )� )��*
�      ���%�+� �
*�7�� ������ 8�4 )� ����* $��"� �        �� ���9�� )���* ;��0�� 	�� ;�0

&���%�� ���(�.   

           #��"�� $��������� �"�� )� ��,�� 8�4 ��' )�, ��� ),���     ���� )�� �*,
     �������� ����� ������� ����λ !��������
� � � -       $��"�� <��� )� ),���� )� 6�

   ������ ����� )�������� )�*�          8��4 #����� 1��� ���%�
 ��
��� ���(� ���,� 
�3���� ������ �� �3���� �
�,�� ������.   
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  ����
� ��
�� 
���:            ���& ���� ��6 ��%&��G� ��
�3�� �#���� �%� ���� ���  �=
>�����       '��5�� 
��������� �� U235        ��%&��G� ,��� ��
�3�� #����� �� ���- �	� 

�W �%������ ��/�� ������� ���� ���� ��� �#���� ��� '� 9#/� �!�/�� ���/�� �λ 
<��% 4���� 7
��3����&�� ����� �#���� ��� �%� .   

16. 3.6��	�
��� ������ �
���!� ��
�
�� ����   

 K��"�� �	 4���� ����������� ����109 sec�  �������� ���� ��% ,���� 
 4���� ����������� �%������ ��/��λ = 10 cm  �W���������� � �	 A�%��� A%3

 ������� ��� 4���� ���
t = 10-8 sec  �  �������� ���� �	 �1:� ���/�� ��� '��
K = 2������� ����%&�B� 9#/� A
����� '�� : 16 , 8 , 4 , 2 , 1� ��� �:
 ��"�� 

 �8#/ ��������100��� �� �� ������7
��3� �(���� ��!�� '� V
54���� �� �2100 

=1030���� ��%&�� � ��� ���)�� ��=��  4����100.10-8 sec =  10-6 sec  4	 
               
���������� ��� #/�� 
C�� '� �#�!���� $���� ##�� ����8�� �� ����� �� #/��

 '��5��1kgr U235������� ��#����� ?�/ $���� �� '����� ##��� 4���� :  

n = NA / A = 6,023.1023.1000 gr / 235 gr = 2.10+24
  

           ��� ���)�� '��5�� 
��������� �5�� �� #/�� 
C�� ��%&�B ?!���� ������
 ����8�� �� ����� �� #/�� 4����10-6 sec � ���� ��   '�� ���5 4��� �����

� ��
�3�� ��!"��������.    

16 . 7  ������ ���������� ���� 92U238   

    J3
�� ��� '��� �����#�� ?�/�    
��������� �5�� �	 ����� 92U
238 B   �%&�� 

6    ������� ����������� 0��% �� B�          <���)�� K�
 ����
 �� ?�C� B	 ?!� ���� 
    �5���� ��� �:
,���          ������� ��#�
 �"�"1 �%���� �=���� ��������� F��� 

��%&��� ������������ %�3��� �)��� ������ 2�� Q�
%� ��%&�B� ���� Catch 

Resonant.   �#�� ����%�� ���� �       ��"����� $���� '"5��� ��%&�B� ���� ��)�� 
>#!�� ������� ��� �)����� �%3�� Resonant   4����6,7 eV�   ����� ,����� 

��
�� �#/�
 4���� '"5��� ��%&�B� 23000 Barn .  
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�        �5���� ��� 2�� ������� ����� �	 ��3�%	 ��6 ���92U
238      ������� ##�� A"��� 

�#/�� ����
 ��������  ���;��� <�� 0�&�� Isotope ..92 Pu239   ����"��� 0��%� 
�=;��������� �B#����� '&��� ?�/ �:   

                  92U
238(n,γ)92U

���� ���5"' ٭239   23,5 min   

   �8 ��- ��;��� ��=��
�  A&� �
 .      ��/�� ������6 <(�%�6 #�
 6    ��� ���;� 2� �
Neptunium������� ��#����� ?�/ :   

               92U
239(e-,γ)92Np239وي ٭��� *�+�    day 2,3    �)�= ا�

              ��� �5��� 2��6 ���/�� �������*� �G/�E�
 ��;��� ��� ���=��� '��� 
Plutonium .        

%�� ������� ���"��� �������������� ��#����� ?�/ 2:   

                92U
238(n,γ)92U

   92Pu239(β-,γ)٭92Np239(e-,γ)٭239

6  �5���� ��� ��  �� 4	   �Plutonium�        
���������� �5��� <
�&�� 92U
235 

'��5���     ��%&�G� �
�� �
�8 �5�� �=� �     '���/ '"5��� ���� 24400   A&� ��� 
 �����&6���α  '����� ����!�=��%� ��� J3/B ��.   

��UG��"��� #��� �����# A
��� ��������� :    

 "����!�
���� #
�$ �%�����   

 G��"��� @��
�       ��(��)�� ����� A���&� ���#
�� '� ��� ������� �    
� T��+� '�� 
��(��)�"�� �������� �#��3
 
�/��� ������� 0�%�� #�!�� B6 ��� Steering Action 

 ���� ��%&�G��$� �          �������� ���E�3�� �=/
�� ���%�� I���6 �/�5�� ���/ �=��� 
>���� �33/ ��� A���&��� ����>�3�
%�� ���� ��G��"��� �������� .   

 G��"��� 
="�����          ?�!� ��(��)�"�� ������� A���&��� ��� ���� 0�%� ������� 
=��� 
�3�� ���� ���� A���&��� ��� @��
 
���	 2�� ����� �	 JB�	
:  

1 � 0���/B� #���    

       
="� 0���/B� #��� ��3� ��� ���	         #���� <
 #�!�� 4����� ���"��� �� 
�� <�
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         � 0���/B� #���
 #5� �� 
="��� ��%&�G� ��
�3�� ��(��)�"�� 0���/B�W � �=���� 6 B
  ���38�� �5����� #��� Nucleus �� � �#�� '�     '"5��� ��%&�B� ���� б  >#! A"���  �

�����      ��%&��B�
 
��#��� ���"��� ��� 0��% ��� �����/�� ����������� ���"� ��
 ��� ���������   ���%�� I���* <
 
�/. ��'        ���
1�� #�
 �� ����1��� ������� �5����� 

������� �5����� 4	 ��%&�G� ��
�3�� �5����� ��� @�3��B ����%��:   

                            92U
235   ,    92U

233   ,   92Pu239  

�5����� ��� ��)�� ���:   

A �   
���������92U
235  ���
%��
 #!�� �    M��5 �5��� <
���� </
���    ?�!� 

       ?�51���� ��3���� �
�5 ��(��)�� ������ '� ��� �:
.     ?�5�1��� ������ �;�� 
 
�3�� '� �����+�� ����+� �%�
���2.8.11.  

B �   
��������� 92U
233 B    '� #!�� ���
%���     <���3��� <�5�� ����� ����� 

>����%5��� �5�� �� � � Thorium  90Th232  0���% �� ���
%�� '� #�!����
������� ��#����� ?�/ ������� �����������
 '��
%�� �5���� ��� ���:   

                    90
Th232(n,γ)90Th233٭(e-,γ)91Pa233٭(e-,γ) + 92U

233      

C ��� �5�� ��	  Plutonium 92Pu239B ���� ���
%�� '� <�� #!�� <  ��� 
           '��
%�� 
��������� ��3
 '(��)�"�� A��5��� 0��% �� �5"� 4��� Q����92U

238 
������� �����������
�������� ��#����� ?�/ ���� �#� �/�& ������� ���� :   

            92U
238(n,γ)92U

   92Pu239 + (e-,γ)٭92Np239(e-,γ)٭239

       G��"��� 0���/� #���� �G�	 �������� �5����� ��� ������B��   ?!� ������� 
��(��)�� 0���/� #���� �=��)�� 2�� ��;� @�3�6�=��� �������� %�3��� :   

1 � '��
%�� 
��������� �5��  92U
238

  

           0
���� 
�3�� '� JG5"� <��)�� �� ��/�& �� ?�/ ,����7.16  �   �:�
 �=;
  - �5���� ���     G��"��� 0���/� �#��� <������� ���� ���    ���� �+ ������� � � �=� 

   bA"��� '%�3��� ��%&�� ����>#! �� ���� �>���%&�� JG��� ,���>�"5� �7��C5 � >#�!  �
�����/�� �����������.   
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2 �'��
%�� 
��������� �5��  92U
235   

       �
�� <�:
 �#�!�� <��)�� ���  /�� �����������
 ��%&�G   ������� �"�"1 ������ 
  ������� �����������
 ,����.        S(���� '%�� �����/�� �����������
 ���%&�� ���� 

	� �E�	V
�.  

   
��������� ��	�U235  B '��5��    0���/� �#��� ������ �     ���������� S��� <�+ 
       ��������� ��%&�B� ��� ����� ?�5� ��"��� �#�#�.   � ���=�� R    �5��� ��1

  
���������U235     �
��
 4#���� ?51��� 235 6   2��140       '�� 0����/� �#���� 
G��"����  �8�#/�� ������� �     ���� 2�� '�:� ��� '���� � =������� �    A��� 
�� '� 

J3/B�.   

3 � '��
%�� 
��������� �5�� ��5�1    

     ��R� '��
%�� 
��������� �5��0,7%    
��������� �� 235    ,����� 99,3% 
   
��������� ��92U

238 ���   B �5����     G���"��� ���C�� V�5� �     �#���� �������� 
0���/��             �������� �����������
 ��3� ��� �5���� ��� �	 �=; ��
�1B� #�
 <�+ 

 ������ �� �	  99 %   �5���� ��� $�� �� 238 �%&�� <
 �#�!���� � #�!�� ���� 
� 
�� ,�� ��%&�B� ��
��5 �� ��8� ,���RG��"��� 0���/� �#��� �1��   ������  

 4 � 
��������� �5��  92U
233  

    J3
�� <��)�� �/�& �5���� ���   G��"��� 0���/� �#��� ��  �������� .   <���)��� 
      
��������� ��)�� 4���� ��%&�� �#���235�       ��� JG5"� ���� 2�� '�:� ���� 

G��"��� Q�E�� '� �1#�� ��������� 4	 �#����� ������� Brood Reactors.  

5 �5��  �� �Plutonium 92Pu239    

   7��# ?��� �5���� ��� >�=� �     ��%&�B� ������ '� �@���     I����6� 
G��� ���� 
             Q�E�� �1#� ��� JG5"� ���� 2�� '�:� ��� ���&
�� �#�
6� ?��1��� �	 ���%��

G��"���� ��������� �	 �#����� ������� Brood Reactors.  
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16. 8   �� �����������������
�� ! The Moderators   

   ������� ��   <�	      ����� ����������� ���� ��"1� �	 V
���     '�� ��5�1� 
G��"����       �1�
� ������� ��=� �""1� #��� ���)�� ������� 
       �	 #�!� #������ ��� ��

�#���������� ��)���� :   

1 ��#��  �A"��� ��� #�&� ��%&��  High Elastic Scattering  

2 ��#��  �� ��%&��  ��C5 %�3��  Fussy Catch Scattering  

3 �=��� ##�  � ��C5 ������� Fussy Mass number   

 "1� �����
��            #�&�� A�
�� V
���� �	 �"1��� 0��% �� ����������� ���� �
    �""1��� �#���� ��� ���� $��.     �#���� ��� �#�!� �   ����� #�&��� ��#3� #��  ��=�#��  

      ���� �� ?�%� ���/�� ��� '� ���   ��� ��������   �	 ��""1��� �#���� ��� $��
 
#%5
Z�   $���� ��� �� %3���    G��"��� '� %�3��B� ���� �J"��E 23
� �	 ?!� ������� �  �+

    �! ����������� F�5��� �	 Q��E�        ��%&�B� ����� 2�� �8R� ���/�� ��� '� �=�
��������D         � V
5� ����� #�&��� ������ ���3���� ���%�� ��� �+     0��"�� ��� $�
��

       �""1��� �#���� $��� ��#%5��� ����������� ��
�=�   ����� ##� T"� �    ?!� <�	 4	 
    ������ ����� ##� ���� �:
� � �   7
��3� 4���� �""1��� �#��  ����������� ��� �.   ���=�� 

��""1��� ������� ?!� ?
������� �"�"1�� ����� �=��� �������� #����� :      

A Graphite  ��� '� #�!���� 
/"�� $�� '� V
��� 9#/� �� �Graphite  

B Deuterium  ���38�� ������ 4	��� '� V
��� 9#/� �Deuterons  

C  Hydrogen ��#���� ������ 4	��� '� V
��� 9#/� � Protons  

      �""1��� #����� �=;� �/(B ��� A
�� ��=���  #�	 '%��� �    ������������ 
#�5� #
 ����/��� �������   �""1��� #����� $��
 ��    ���� ,����   %�3����  ������� ����������

#����� ��=
 �"�"1���:  

�""1��� #�����   ��!��#=��1H
1

   
������#��1D
2

   
/"��6C
12

  


#�5���  
18  25  114  

%�3��B�  (10-28m2) 
0,325  0,0005  0,005 
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 �������� 	
�� 
������� �����    ����� ��� ������������ ����30.000 

km/sec � ���� ��� �
��� !  �� �"#10 km/sec .   

  

  

  

  

  

  

             ����� $
���� ��%��# ����� $
����� ����& '��(�� ����� 	
) ������� ��%���

���#�� *�%� +������ � 
���%���Billiard.   

 +����� ,- ��)��������:  
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       ��� ��""1��� ������ '� ��
������ �G��"��� I���� �=;�    '�� ����������� �
       ��""1���� '��5�� ��- 4#���� 
��������� �#��Moderators �  ���� 6   #���� B

     �� ����������� �=
 
#%5� ��� 
������     =����� �"1� ��"����� ������ �   ��� 
  '(��)�"�� V
��� 0��%�          �
� ��""1��� $�� �� JG��� F��� ����������� ��� ,���� 

����� �5�� $�� �� %3��� �� 
����92U
238    

16  .9!"#"
��� ��	
�$� %& '��
�� ����( )�#��    

 Steering Action  

1 �&��
�� $
%	��   

   G��"��� '� 
�/��� �"�;��            V
�� �	 ������ �	 ���"1� ����� '� ������� 
'(��)���   � %
E ,���� 6     G��"��� '� ��������� ���"��� ������ ��
8�  ��������  .

�"��� ��#� %
E �=��	 ���"��� �
��%��� ��)G�� �� K = 1 
�/��� ��
E� ,��/�

       B ��
�3�� �/
���� �	 �""1��� #����� �� ����5����     ����
� ����
 ����������� %�3�

�� �8��  Bor. and Cadmium .  ,���/�
 9#/� ������� �����   ���� ��)��6
       3�C��� 
�����+� V(�"5 ��
 �� 2�6 �""1��� ��
E3���  
 �@������    
���������� �5��

    4	 ���"��� ?�� �"�R��� ?51��� Core�       V(�"5�� ��� ��
 ��
E3�� ��� ,�/�
� 
  ##/� ����"��� 2���  ��� A�%��� �  "1� �	 ��     2��/ ��%&��B� ������ %
E� �
 ������� ���� V
5�	� �C5�#/�� K< 1  ��!�/�� ������ �	 ���/�� ��1# '�� 

      �� 2�� V(�"5�� ��
 ��
E3�� ��� �)��      '����� 
�/��� 0��% �� ##/�  Q�"� '�U�  
�� �Automatic Steering���"��� '� ���"��� ������ ������ �   %��3��� ����� 

�1#� ��� �=����#
 0���� ���'� G��"��� �����# Q�E�� �������� .   

  J3
�� ����� #3�    7
��3� 
�/��� 0�% �� �       '����� 
�/��� ,���� 4#���� 
�/��� 
=�� �
)'�U�(  �              �#���3� '������ 
�/���� ��&�� �#���� ����
% �3��% ,��� #!�� ����

G��"����     ����/�� ��8:� 0��% �� ������� �        �G���"� ���� ���� �3��%�� ���� 
 A"��� ����%&�B�� �   A"��� ����� T"� '�    ����/��� �%������ ����������� ���%� 

    ����������� %�3��� ,��� A"��� ��=��"���
�� ����      ����� Q�"���
 ��%&�B� �1� ,
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>���� ������� ��
���� ����/���
 �B �������� ��/G%5:Negative Temperature 

Coefficient�G��"��� '� '��
% '��� 
�/�� #���� ������� ���� �������� .  

 ����������� T����B ��#�� #��� #!�� 
�/��� ,����Neutrons Reflectors� 
  � A�%��� ����       G��"��� '� '����� 
�/��� �����
 
�3� �:
 ,���  �������� �  ��8�  :

G��"���� �#�����
 �������� ��������� ������� Brood Reactors   #������ ����� 
������� #����� �� �"�R�:   

Graphite ,  Deuterium   ,  Beryllium 

2 �!�
���� '� "%��
�� $
%	�� $(� )� �%
*��� +�,�� �%����� �%�,�� $
�
-�  

  G��"��� �� �����  =�)�� ������� �          $��� ��%&��� ����� �� <�+ #��
� 0�% 
������            ���"��� �����/ �G��"��� ��� �� S��� ���"��� #��� $�� 4	�   ����� 

   ������ ����/��	            0���% ���� ������/�� ��#�
��� 0��% �� ���%�� #����� JB�
    !����� ����/�� #��
�� #��� ��"8�����  B� �� �����%&. �  ��     ����%�� I����* ,��

             ��8� ��(���� ��(���� �#����� �	 ���38�� ������ ,���� ����
%�� ��#���� ������ ������
��� Naturism A(���� D      7��# ?��� '�#���� #�
��� ��� �+   �>�=� �     ������� '�� �

#��
����   ,���� �  ����        �#��� '� �5�1 ,���� @��=�� �������
 #��
��  )�- ���1+�
 
���=��Helium 6H�.   

       �1#� ��� �=/�&
 0���� ��� ��� #��
��� ������ '�    G���"��� Q�E�� �� 
    G��"��� �� Q�� ��� �+�   �5� ?�/ ������� �         ��5�1 �#���� ��3��% <�� <�

�#��
��..  

3 �!�
���� $
�
-�/ )� �%
*��� $ �%�����   

'&���@     B �	 ?!� 4���� 
=���  C� �  ����
 �� ?          ��� �������� ��� ������ �	 
  G��"��� �� ��#�5�� ������ �����&*��������� D  ���3���� ������ 0
� #3� ��=�� 

>�������- �	 
��������� ���� $�� ��%&�� ����� '� <�:
 ��G��"��� '� � ������� 
    �G��"� �� A
�� �� �	        ������&*� Q���	 �� �� ��%1 �����&6 S����  �=��� � 

����&*��������� ������� �:  α  , β ,  γ   , n  �=
!/ ?�!� �����&*� ����  � 
 �� �������	����E �
�	 ���������� �(��� G��"��� @��
  0�% � ������� .  
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��A�B G أ
&اض �"��� � ������� ��'   ��� ����
� ����� K��/	 �3�3/�� '� 
             ��� ��� <�
���� ������&*� V
��� ,���� �)�� F�1 ��C� ����	  �G���"

        B:
 �������� ��%&�B� ������ �� ��5�/�� ����%&�B���    I���1�� 2�6 ?���
   ���
%��� ����*�� �(�
�� #�
���  �C��� ,���� �          ����"��� '�� ����
 @��=�� ��3��� �

M��5�   �5�1 Filter�       G��"��� #��
� ���� ?��� A��� ��%���/� ,���� �  ������� 
����!�� ������ 2�6.����� ��� ��<�	  �7
��3� S��� 
��������� �#�� ��%&��
  �300 

Isotopes    �� ��&��� �(�;��� �� �  '�   �����	 '� ���G�1� ,���     ����� ��"5���� 
     ��� �� ?!� #�����6    G��"��� �� �=!��16 �1[ 2�� ������� �      ����3
�� ���� �+ 

 7��8� F���  ����������� �� ��   ��=�� ��"1 ��   ��%&�B� ������  . �� ����  ���&��
   ?!� ��	��E�=          '��� ��&��� ��%1�� ������� �B�5/�� ��� ���3
 �����&6 V
��� 

>���� �=�����&6 ���% ��� '%���(����
 �:   

=���7
��3�  �80%  �"��E ���%
 ��&� #���    

�=���7
��3�  �19% �%���� ���%
 ��&� #���    

7
��3� ,���� �1 %��"��� ���%
 ��&� #���    

 � ;"/��          #����� ��� �����&6 �%1� ���8/ �� �������� ���
%��� �#����� ����*
      =;"/� �=��)1�
 �(�
��� @��)�"�� @���� ��� ��������        �����
%�� V����� 
!���� '� 

������� ?�
�c�:   

1 � +              #������ ���� #�
� 
!����� 0�� '� �#�!���� ����
%�� V���� ��!/	 �
��=�� �� ��&���@���� )�C��� '!��1�� ���"� ���#��
 <���� �� 4	 Bio cycles.  

2 � �+    �#�� �3����� V���� 
!��� ��       #������ �G/�EB ����/�� ��3��� ����� 
��&���.  

3 �            ��&���� #����� ;"/� �5�1��� ,���� �%��
�� ������� '� V���� 
!���� 
 #����� ��� �����&6 ?��� A���6������ @��=�� 2������-� �.   

16 . 10)*�+�� )#,�-��  .����� ��	
�$� )#,�( ��   

 �
�3�� @�3�6�           ##�� �#��� �#�
6� ����8�� �������� ?�/�� �1��	 ��
���� 2�� ������ 
   H����
 �=���� �� ��
� 6.8.1945 2��  Hiroshma�       
���	 �8G8 #�
 �� ,���� 
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   ������ �	
���
     ��� ������� ������� Nagasaki  �����
 ���� ���	 �    ������ �� 

 ������� !����"�� ��# �      
"$��� %&�� 
'��� ��   ���    (�&�� ��)$�� *�) ��� ����"� �

            ���	�+��� ����,��-� .��/�	�� �'�)�� 0���- 1,�,�	�� ��)$�2� �&3 1�	+�,� ��

���	#��.  

   ��� 5�&��Fermi        � %��� 1��"	 1�
 !�$�6� 
'��� 5�& �� � +�7�   ��	8�� 

����,�-�9  :���� ���� �       � 
'��� 5�& �� !�	�+�� �	 ;��< =>�  ��  ��?   ;&3 (�8' 1����

   ��< ��,�,�	�� ������� 
���)$�2���	�  (8���?� ���������� ������� ���7��� �=� @��

 �A����� ����,�-�9          ������� 
+�/� 
8>� B���	�� �	�+�� ���"��� �&3 *��) ��� 

       ���� 8��	�� �	 ���+)' �	 �"�C	�� ���#� ���&��  ����    �	=��� B"�	 ��8� ��)$�D9� 

  	=�	 �+)' 1��        @��������� �/�� �	 (�� B/� 1�$� U235      ��	 �
 ���/��� 

 �/��Plutonium Pu239��)$�2� E��,�� .   

  

  

  

  

  

  

&3��� "/��� ��    � E��, F���� ��8� G8� 	=���"� �   ������ ���� �� 9   0��� %
 

�>���� ������ �
 ������9� %
 � 1,����� 1	.�/
 
  8��� �	 �H/K< 1 F�,��  

�
 "/� �    '��"	 ;&3 ��)$�2� (8�	 � 8����	 ��        ����	� F�,��� (88��	 ���,	� �

  (��/�� F,� 1,�����9  	=�
 %
 � >�	 �8�     ������� 1��8 �� ��     ��� (�� B/� 1�$

    1",#� �� (�� B/�� ���#�9 3� ��& ��2� � "�H	 ��  ��8�+	 BDH� ������� 1��8 �

  :�	�� �	, F�/ �� �  �Tamper.           
����������� 1�� ��"� BD�H�� �&3 �"��� 

  (8�>�	��A�    0���� B���� D?       �� 1,�,�	�� ��)$�2� ���	� B+I7�� 0����� ��
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 ��%&�B� ����                �5��� #���� ��� ���� �5� �� ��1 �	 @��� ,��� ���� 
  ��%&�B�� �&/ #!��   ��!"���� #����� �� �       ��� '� ���!"���� ��� ��!"� �����
� 

� 9#/� #/��"5� ��
 A��� ?��3'���� �  ���/�� ��%�� ����� ?�/  λ  ��/� 
    "5� #���� ���!"���� ��� %CE' ���� �  ��%&�G� ��
�3�� �      
�#%�5� ������ '�� 

���� ��3�� ��� 	 "5� 4' ���� �  �=E�
 A� � K�
�� �     ���� ����������� �#����
� 
   �!�/�� ������ ������ ������    ������� ,���� λ      9#�/� ��;/��� ��� '�   ������ 

��%&�B�� ������� ���� �
�� ,���� K V
5�� 	 #�/�� �� �
�K > 1  9#�/�� 
J3
�� �=�/ P�&� '%�	 �3(�� ����
 4����� ��!"�B� �7
��3� 4���� �� 10-6 sec 

  >���� ��� #3��  �	    ��5 '��� 2��+� ��
�3�� ��    2�� ��3�	� Hiroshima    �����  
  7
��3� 4���� �=����� 15    � �5�� �� 
C��       '��5��� 
��������92U

235  �  ����%�
 �7
��3� �#��� �	 4���� '
��1��� ����!"��   
�C���� �#�/�
 �20 000 kg TNT 

   �� �#�� ���%� ��#�����  �TNT   ��� �������� ��!"�����>�(�     '������ '�
�/�� 
�B�
 � 
C6H2.CH3.(NO2)3 ��� ��/G%5B�
 �#���� '����� 
�B�
 �5�1����TNT = 

Trinitrotoluol.  

    �/ �����
 F�1� ��
 ��	� �       >�� ��� ������ ��
�3�� �B#��� �/ �	 ?   2�3
�� �
 >�� ,�����            2�6 �5�� @��)�"�� A�E���
 0���� �:
 4��� '(��)�� �� 2�� ?!�� 

  #�53��� �/�� �����.   ���� �       �5�1 ����� �3��% �#!� Q�E���� ��=
 �#�����
     4����� Q�E���� '� '��� '5�5�1�� '51&
�  dG/ �#!�  >5�1 �   �B#����
 

  >���� �#��� �%��
 7
��3�� �      ������ ��
�3�� ������ ����� ���%�� #�!� ��    ]���� ���� 
c�        ��)� ����
�6 '� ?���� ����� ��� ��� 2E� ���     ���!/+�� ?����
 @������ 

  ��������6  �� �& ��#!�N( 7#�#! ��   ���� �U   � B	 ?!� ��C&�      ��E�3
 '�
���� 
����� 
            
=��� K�
�� 
=� B <�+ ����- �	 ������� @��)�"��� 
�����6     2�8�+�� P#�3�� B

4#��� ��� ���/ B� ��������.   

6    ���� <
�&� ������6 �8��� ��� ��
���� 2�� ����� ,�� '� ������ ��
�3�� @�3�6 �
     ���
%��� �(�
��� 
����� 2�� ��1� 
�/�   eA� 
� ������     %1	 �� 
���� 
�� (���.   ����� 
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             ���
%��� �(�
��� ������ �� ��
� ##� 2�� ��
���� '� 
�/��� �����
 �E� ��
�3��
�3
����#
+� ����
�� �����&*�
 ��
�5��� �� ��8� ���!+ ������6 �8��� .   

             ��� %�CE���� �!����� ���%��� ����/�� �� ������� %�3��� K�
 P�&� ����
�8�:
 ��!"�B����3�
%� �/ :   

���� ������ �
����� )� ��
���� ���  

         4���� �=���% ��� ���� �� ���� ��6 JG8� 3.10-10  � ��! W     $��� Q���!� �
        4���� ���% ,��� 
��������� �5�� �� #/�� 
C�� ���� x   D   ?�!�	   ��/�� JB�

����� ��� ���� 
� �] 
��������� �5�� �� 
C�� '� #!�  

 ?�/ �5���� ��� �� #/�� 
C�� '� #!��������� ��#�����:   

6,023.1023.1000gr / 235 gr =  2,5.1024 Atom  

           ?�/ 4���� ��!�� �#/�
 
��������� �#�� 
C�� ��%&�� �� �!����� ����/��� 
J3
�� �������� ��#�����'����� �/�� �:   

2,5.1024 . 3.10-11 = 7,5.1013 Joule  

       !�� �#/�
 �#!� ��!"�B� ��� '� �!����� ����/���  7
��3� 4���� ��   �#�/�
 �
  �&� ����
%�� ����/��� �G� �    �����/ �!�# �10.10+6C°     ��##�� '� ��
�3�� ���� 

       7
��3� ���%� �
=��� ��� 2�6 ��!"�B� �;/� '�   4���� �100  ���� �   ��=����/� 
  4����7000    7
��3� �#��� �����/ �!�#        T�&��� <�!� 2�� �����/�� ���%�� �� 

B ��"��� %�CE ,���� 8�� �3��� �=��1���,�� 2�� �:   

  %CE�� ��#� ���� P   V%��� 2��� 4������
 ���"���� %CE�� ���% 4����
   �� �/��� 2�� ����3��            �� A�
���� ������ '�� �������� �#/�
 2%�� V%���� 

N/m2������� ��#����� ?�/ :   

P = F / A   = F / d2.π / 4 = N/m2
  

6�� ��#/�
 2%�� ��� Pascal =pa 6��  ����#3�� %CE�� ��#/�
 �at = bar 
������� ��/G%5B� ��������:  

1pa = 1.N / m2 = 10-5 bar  
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  ��!"�B� #�
 ��� 23
�        3
 �� ��&��� #����� �� �#�#� ���5	 �    ��%&��B� ���
/����>�&� @�
� �7�%1 �BU ���
%��� �(�
��� ����*� 2�� ������ �.   

      � Q���	 �#� #!�� �E�/�� ����� '�     =�� 2�;��� ��#�� '� �
��3�� ��   ��
��3�� 
�������:   

1 � 0�%��� '��5�� ������ $�� ��%&�� �
���  Fission.  

2 ���=5���� ������ $�� �G�� �
���   Fusion = ( H-bomb).  

3 ���=5���� ��%&���� ������ �
��3��  .  

4 �� �������� ���
��3��  �� ���8G8�� �����%+� ) ��=5������ ��%&������
��%&����(FFF Bomb .  

5 � #����� A� ��=5���� ��%&���� ������ �
��3��  X�� �
��3�� �	 ��3�.  

=�� K�
�� �5"� '
��3� P�& 2�� '�:� ��� �
��3�� ��� ������ ����:   

A��%�%���"0�� �	����� �� ��0����� $��,�� 1�� 2!�   

    �=���"� #��� �
��3�� ����        ����/�� ��=5��B� ������� 2��6     4	 $����� 4
Thermos Nuclear.  

               ������/ ����% #��!� �/� 9#/� <�	 ���� �	 ?!� �������� ��� ���"��
7
��3� 4���� ��"��� %�CE� �10+6 K  �    #������ �	 <�
 #�5�3���� ����� ����

 �=���"�
 ?!� ��� ��=5�B� ������ ���������	B� �5   2��6 ��=����/ 106 K .
     ��1#
 9#/� ��=5�B� ������    ����/�� 0��% �� ��(�#
�� ��������    A�"��� ,��� 

       $���� '� '������� ���"��� ������ A
�����
 ��=5�B� ���%.     ��
� ##� ?
��� ��=�� 
          B� ��!"�B� 9#/�� �!"�� ������� #����� ���� �	 ��=5�B� #��� �� 5��=  �	 4��

 ����!��#=�� ��
�3��H Bomb.  

�����     �&� �	 �
�3� ���"��� ��� �      �&/ ��!"�� �	 ����&B ��(�#
 ����� <
�  #���
 
	����
� �	 �3��5 0��% �� ���#� #��.   
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JB�	:����&B� 9�#/6 ����� 4���� ������� ���  Spark or ignition ����/
 
��"���.   

7���8�:      �&/�� '� #�!���� #���
�� ����&� A
���
 �  ��!"�B� 9#/� �    ?
���� ��=�� 
 ���&* ,��� ���)�� ignition0�"� �=����/ ����
�  ����!��#=�� ��
�3�� 106 K 

  B ����/�� ����   #!�� 6       �������� ��
�3�� ��!"�� ����� '� �	 T�&�� '� B�  ���=�� 
��&� ��[ �	 ��&� ��#:� �1:��  ����
��� 4	 Spark or ignition  ������� ��
�3��  


��������� �5�� �� ���
��� ����%&�B� U235  � �	�� �5�� ��� Plutonium 

Pu239              ���
�3�� #������ ��� �GC
 �%�/��� ����!��#=�� ��
�3�� �1�# '� �=�E� 
��=5�G�.    �� �#��� ��=5��B� �#��� ���1	 '����� �8��� ��� '� ��� Lithium 

deuterium = (LiD)��� �5�� ������� '�� 3Li6#�!���� �  ����� <
 7,4% 
� %��1��� '��
%�� �5���� �� 4������ '��
�� 
�3��92,6% 3Li7 �W  ���- ��� �

        ���&*� ������ V��5 <���� ��=5�B� ������ V��5Spark�      0���% ��� ���� 
           ����/�� I���* ����
��� ��� ���� '��� ����%&�B� ��
�3�� ��!"��
 ��"��� ����/

 �
!���� 106 k  �1�#�� '� ��=5�B� ���"���� &�� ����� ��/�&� 0
� '��� �==
�
 �/& ��!"��
�   ��(�#
�� #��+� #���
�� .       �=�E�� ��=5�G� �����"��� �������� ���� 

������� �B#�����
:    

         3Li6 + 0n
1→ 2He4+1T

3+6,4 MeV                                      
   

                                           ↓ 1T
3+1D

2→ 2He4+0n
1+ 17,6MeV 

 �         ���� ����������� ,��� ���)�� ��=5�B� ������ ���"�� ��E/���  ���)C
 #!�
   ��%&�B� ��!"�B� 0��% ��4        ��#�����
 ���=;� �!����� �������� ��
�3�� �1�# '� 

�������:   

               3Li6 + 1D
2 → 2 . 2He4+2 . 0n

1 + 22,2 MeV    

        �� ���� �� <�:
 ��� ��#!� #3�Lithium ��        �� ����� ��� ,��Deuterium 
3&����� �����8� ��
���=�� �� �2.2He4>#! ��"��� ���%
 �.   

o b e i k a n d l . c o m



324 

   >���� ��� ����� ,���� >�(��)��� ��       �� ��� ����
�� ������ ���� ��6Triton   ������ 
������� ��#�����
 ���=;� '��� ��
������ �������� 9#/��:   

       1T
3 + 1T

3→2He4+2.0n
1+11,3 MeV                  

             ���=;� �	 ?�!� ��=5��B� ����# A
���� 
="�� �������� ��=
 #�53����� 
������� �B#�����
:   

           3Li6+0n
1→2He4+1T

3+4,6MeV                                        
                                    ↓1T

3+1T
3→2He4 +2.0n

1+11,3 MeV              
            3Li6+↓0n

1→2He4+1T
3+4,6 MeV            

    �� ������� ��� '� ������ �� � Lithium �8B� ��  �=�� �3&�� ��    
���� $�� 9G8 
�� ������� ��#
 �Triton.  

  ���� #!� #3��             #���� #����� ��� ��- ���% �5 ,��� #!�� <�:
 ��3� ,���� 
      =5�B� �
��� '� ��=5�B� ������� ,��� ��
��   ,��� '%�� '��� �� T�"�  ����"� 

��=5�B�.             ����%+� ��� ��
�3�� P�& '� �=���"� �� 9#/�� ��� #����� ���� 
�8G8��.  

B ��3!3�� ����4� �	��*  3 Phase BombFFF  

            ���� ��#���� ��=5�B� �
��� 0��% �� ��% ���%��� ��#3�� 
1E PG��� ���
 � ��%��� 6 T�    �B� �
��� ��%
� �#��) B      
��������� �5�� �� �GC
 ��=5U238 
'��
%���   � �
��3�� ���� ���   �
� �8G8�� ���%+� ��  =�1�# '� �     ���� ��%&�B� ��
�� 
� ����������&*� �3��5 �"�;�
 
�3� '��� �3��5Ignition Sparks� �"�C� ���� 

7E�	              
���������� �5���
 �%�/� ,��� ��� 4��� ����� '� ��=5�� #���
 �U238  
       '�� ��� 9#/� 
1E�� PG��� ��� ��!"� ������       ��%&��B� ���
�� ��!"�� �����


 '� �#�!���� ��%&�B� ��
�� ��!"�� ����� '� �/�& '��� �������� �3��%�� ?�/
     ��"��� ����/ ����!"��
 '%�� '��� �1�#���  7##� ,���� � 7��
� �   ������������ �� � 

 ��"����� ����/�� ����+ �� �8�10+6 K��=5�B� #��� �=5� �  ������
 ,���� 
    
��������� �5�� ��%&��U235       ����/��� ������� ����������� 0��% �� ��C���

          � PG��� �
��3�� ��� �� ��3� ��=�� 
1E�� ��!"�B� 9#/� ��"�����4   ����%+� 
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�B�
 ��5�1��� �8G8��FFF ) ��%&�� � ��=5�� ���%&�� ..( ��� ?��1� ��#��
>#! ��1E�� �/��+�7
��3� 4���� � �15.106 Tonen TNT  ������ �&� ���1 
  ���!"���� �� �%�           ��� ?���1� ��#�� ���% 4���� ����3���� ?��/�� ?�/� 

    #� PG��� ��� �� ��
���       %3�� '��� �
��3�� Q��!� ��#� ���� �     ?��/�� '�� 
����8�� ���������=��� �  ��������� ������� ������ ?��3� ��  1,3.10+6TnT   �%3��

�� '� ������	 2���?�/�� .  

     ��3� �	 A�%��� ��=��6   ��% ��
�3�� ��� ��=�        ��� %3� �� ���� �&� 4���� 
����8�� �������� ?�/�� '� �
��3��.    

17����%
���+*	%	�א�#������()��
�'#&�א�
	!��א��� �

>���/ ����� #��� ��=�<��� �� � O Hahn����� '����+� 9/�
��  ���� ��%&�� �&
>���/ 4����� ���"��� �������* Q�E���� ��� '� �����������+� �C���
 �:   

"Moechten die ungeheueren Moeglichkeiten, die mit der 
Verwertung der Kernumwandlungen verbunden sind, zu     

Segen der Menschheit und nicht zu ihrer Vernichtung fuehren  
Otto Hahn 

 "           <��#�� <��� 0������� S����� 
�;��� ��1��� ��� �������6 �� ������� ��#���
* 
	 ������*� ��#1� ����
�� �%
������ ��������� ������ $�� ,�"�
#�
�]
�����  "  

    '����+� 9/�
�� #��	 ��3�� ��=
 �"�        ��
� ���(��)�"�� @������ ��;�	 �	  �� A�5
 ������ ��
�3���        ��� ��1��� ���"��� ��� ����8:� ���� ��� <�+ �    ��- ,���� <
 
�/

����  * �5/� ��%1	 �� ������ $�� ��%&��
 <
 
�/ #��
�    ����/ '�� ���&�
�� 
   ��- ��%&�B����� <
 
�/�           ��%&��B� ���� ���� ��� ��%&�B� ��� ��8:� ,���� 

��7��/�  '&� <
 @        5���B� '� ���&
�� ��#1� g� �� ,��
�    
 ���������� #�%  ����
  ���[ ���/� �#�!�� .    ��� ��%&�B� ����� �1:� �����       �������*� V��5���� <�
 
�/

����+���     ��� ��%&�B� ������ �=
 #53�� � =
 
�/�G��"��� '� �   ����� �������� 
G��"����          G��"��� �	 ##/� ���� Q���+�� ���5+� �� #�#� �=�� '�
 �  ������� 
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���  �6 A���&� B          
=���� ��������� ����%&�B� ���"�
 
�/�� 0�%
 ���
� ����� 
G��"����������� ������� :    

1 �G��"���  �� ������� c������� 9�/
.   

2 �G��"���  � �!����� ������� ����%�.    

3 �G��"���  �  ��5��� �#������ �	 ��������� �������  U233 �Pu239   #�����
���� ������ �
��3�����%�� #����� 9�/
c�� ���"��� 0���/� #.  

1 �!�
����  $ �%�	-�� 5
��6� �%�����   

  G��"��� ��=
 #�53���� JB�	       �����/��� �����/�� ����������� I���6 �5�1�� 
      ������� ����������� ���3� 0�%
 ,�����6      �B�!� '� ��3�
%���� ������� 9�/
c� 

    
����� �� ����-� ����� 
��   ��!��������� ��
%��� ����/�� � � 6      F��1� ��� ���
              '�� ����� ?�!�� �� ��� ���%�� #����� ��%&�B� �G��"� �� �!����� ����/��


G��"����� ������� c9�/
.   

    G��"��� �� �!����� ����������� ���� �       �#��
 )���� ������� 9�/
c� ������� 
%�� ��5�1 �=�� �B�/����� ��/G%5B�
 � ���Neutrons flux = Φ� 	 '&��� 4

         G��"��� '� ����������� ���
 ��� 
�="���� ����������� �G�� �	 ����  ������� 
   ��/��
 2%����Φ  ��    ���3�� �5�/ Quotient +    ����������� #�#�Δn   '�� 

  �����Δt  �� 
��3�     � ����3��� ����������� ����/� 2>�#���     �/������ 2�� ΔF 
�#����� ?�/������� �:   

               Φ = Δn / ΔF . Δt                          

 �� ��     G��"��� '� ����������� �G�� �	 '��
%�  B �������  �� � 7������ ��  '� 
   ���"��� K�/ ��=! ���    7
��3� 4���� ����� ���� �     ��
 ����������� ##�6 2��                   .

 Φ = 1013  cm-2 s-1 to 1010  @��

 #�53���� ����8��� A
���� 
����� '� �������
G��"��             ���(�
��� �����/�� 9��/
c� ����������� I���6 �� ����� ��� 9�/
+� 

           ���� '�� 0����� #��	 ��� ��
�/�� ������ ��� ��!��������� ��(�������� ��
%���
    <� �� Q�E����6   Q�!��� B6     ��;� ����� A!���� ��R��� ?��� 2�   ��3�
%� ��(�
 �
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)   �������	 
��
��	 ������	 
����(.  ����
 ��	 �       �� ��� ���� �������  �� !
   ���	�"	���� ���� ���#"� ���$�%�&      ��' 
������ *�"�" +���	 ��   ��,� -	�'�
& 

�	/	0	 1�2 3        ����
 4���� 4�
/��� �5� 
������ ��� 6��7"� 3� �   
����/� 
���
 
 �,��
�"�% 8��	&  �"�� �5�	    ���	�"	���� 9:      
�	�;�� -�� <7��� 
��
�� ��7

�������	:  �������� ���
�� . ����
	 �       "�
��: 6�	�: �
 ����
 �0�7 ������ �� 
0�7�    ��� �,>
� 7 2  1�10  

 ��"
: "  �������� ���
��� �?/&     3���
�� -/@ �,/7�� �� 

 !��"�%� ��	
 3
����Reactor Core����	��� �0�� �
 �
�� ���A
��  B	U235 
   ��� -07
��3   1�2 5  ��
�� BC/5 	      ��D����� B	��
��� E?��0 !?�@�� ��/C
��	 �D 

�
"��	 4�	,�� F35.  

   ����" ��D��"�� ���	  1/�  
       1��2 ������$�� -���" B��
       ����
��	 ��?���� D���� 9��7��

 +��	 ���	;�� 	�  B,
�� &   4��>�G� 
>��    �@�"�
�� ��	�
�� ���   ����>�	 

 ���0����/�0���������		���  
E?��0�� ��� �� �D	��
.   

   ����
�� ��� 3�C$" ��/
�	 �
 ���"��5 B"":       1�/�: ��� ��;	� 

      ����	 +���"
 ��; 6	���
    -/>�� 3
�� ��;��Core H�
�5 &         ���� 6	��� �� ��@�� �/�	� ���I>� �	#
	 

              3����
��� B5�"��� ����/
�� E�5�� 	: J��7"�� ��	
 �/
�� !��"�%� ��	
 E?��0
  �� B5�"�� ���/
�	 ���" ��"��        J���7" ���/
� +��5	 ���$�%�	 3���"�� ���/
�

     	 3���"�� *�@	 ���	�"	���� ���� �@���23���
�� J�>.����
�� ���	 � �
 B,
��	 
   ����K� ���	�"	���� 9�"�2 �,��&     35$� ���"�� 
�	#
 :���    �L���>" 30" 
��C0 ! �

2 3� 1�Core      3
�"�" �"�� ���	�"	��/� 9��7
5 �  ����K	�>�    J��>� �,"���MN" 8�
    	 ��	0"/� ��	
�� 1/� ����         ������
��	 ���	���� ��	
�� �� +��5 �,"����" �����
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2O�..        � ��	0"�� �	;	� �@	�� +�� �� �"�	��: 4�,�2	      ����	�"	����� 
��
 3	
�������&   5�� B�
0" +��5	 �
���   ��?��#���� �     ����	�"	���� �����$�� ��,� ��	0"/

  ; �>>� �������        ��� �	;	
�� ������ 3���
 ���	�"	�� 
����
� �,/�C$"	 �,"�	
��	
O     ��,�
 ��;�7" ��"�� �����,�� ��/5� *��"��	 Technical University 

Muenchen .  

  

  

  

  

  

  

  

  

  

  

 L;��7 �"�0�	�   ��         ����: ���	�$�� ��' �@	�� +�� �� ����C�� ����
�::  �>/� �
P�	��   ����
�� 1/� 
�D� ���� ��		��� �

0 J�5	 ����
Q	 :3	@�2  : �5� �
 3	

      �5 �5

�� �
	 ��
��� 4�
/��� �,�

0" ���+ Fermi      ������� �/��>�� B�
0" 3�@ 
�
�� �
�B���'	 ��5.   

17 . 1 ����  ���	 
���
��� ����
�� �� �������   

 ���
��� �
/��� ������ �;		 J$"5� �
 ��� �
O Hahn �;		 
���� ���$�� 
%� ��� ����� �	I' �� J�$"5�
#P��0�� ���#�� �/"� P���		 � B5�� ����"�%�	 �
B�����.   
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3	>� �: *��"�� �@	�� +�� ���2  
�?�>�� ���/��� �
 �@	�� +�� �� ���5 ����
�: 
  ��		��� 4��#���� ��&            ��
 �
	��
 ��' ��?��#���� B	/��� ��� ���5 ������� �� �5�	 

   -���� 3�;� �5�	 ��	��� 	�'�� �	��5 ��
��� �	�
"�	 �    ��@���� ���� ��
M"��� 
 ����� �� �@	�� +�� �� ��	��
�� ��
/��� ���A
�� �	��	 ������� ���I>/�Kaiser 

Wihem Institutes&  ��	  
�	���� B��>" ���I@ �� !
�"/� <�7 ����: #5�

 3�/�"
�� �����$��	&       : �����"7�	 ��
/��� 
������ ��� !���" !�>�"�	 P��
    �: 3��@ �

 P���� *�0"�&    ��� ��,� :   � R		� 3���
 3	�       ���
�� �N� �@	�� +�� �� �,D	 ���"7
    ���	�"	��/� J�7
 �	;: �� �/�>M��.         ���� �������	 �
/��� !���"�� ��I@ ��	 

    3	��"��� B�� �
� ���	�"	��/� J�7
 �5��
: �� +��5 �;	 �@	�� +�� �� 3	���
�� � Petrol cooks& 	J�7
5
��; �;�"� 1��: R		� & +�� �� ����
�: �� �5�	 

   J��7 �@	��1940          !���"�� ��	
5 ��	�� ���"7�� R		��� 3���
�� ��,� 3
�"�� 
  �0����U3O8 H�/C
 �  �� 
��
� � Paraffin  ���	�"	��/� J�7
5 &    3M
 ��	
�� �� 

  % �/�>M�� ���
�� " 	 
�M5� �;.    �0���� 3�
�"���	 U3O8  �� J�7
��	  �Paraffin 
:���"�� 3
�� 3#�3   K2 1�:���	 �
 �C0 k<1 ���� S?�"� 1��: ���"7%� ���	 

 3
�5"��	 ����"
/��	;��.    3�
�
 ���� ���,�	 Norsk Hydro  	����� ��� �S 
)(Norway     �� �/�>M�� ���
�� 9�"�2	 3
���      ��� �� T;�"�2 30	 R1942   1�2200 

 L���>" �"�       �/�>M�� ���
�� �
 �,$�� �� �D20&     ����
�: 1/� 4��/��� -�� !��I" �5�	 
    L���	 ����>"��	 B	/��� #5��
 ��;�"	   ������� #5��
 1/� ��>�: �"�� 3���>�� �
 �

����
���&      ����
 �� +��5 ��$ Leipzig    3���
 ��	��
�� ";� 5 -���  3���
�� R		�
 
�	0��� ��,D� ���
�������"��:  

 

  

  

 
 

  

o b e i k a n d l . c o m



330 

�� �� 0�/� <����/� #��� ���� �=�)� ��� ��&
 T�
���� 
�������750 kgr 
 4���� ���%��74 cm�7
��3� �%�/�� ���)��  <�!/ �GC
 �220   ��� ����  

   ���38�� ������D2O.    iC& 4����� ���"��� ����     ����� '� �1942     <�:
 �=;� ��
�  
    ��������� '%��� 9
�6   I��1�� 2�	  �8��   �1�#�� '� ?����� ���    ����� ,���� 

������� 	7#/�� 4���� V
5� K = 1    ������� ����%&��B� �	 2��� �a# �� ���� 

�5 ��� ���"���� ,�� '� 
����� ���� ##� ��� 
1E 4�� PG� A�5
 ��� ��=�� 

              '� 
����� ;/ �� ���� ��E�+� ����� 0�1� �:
 ��#�� <��#� 
1E PG�
 �����
  ����� ,�� ?�/�	  ��� '����+� #�5��B�  '�� � ����=��  ��5����  ?�5�1��� 

 #� ���#	 
=�)�� 
����������    ?�5�1��� Q��&�� @���
� ��8��� �;��
 �#.  ���� 
��+��              '�� 4#�5���B� �����+� ��E� ����� ,�� '� �5�"�� ��� ���C��� ���

   ����8�� �������� ?�/�� �1��	�         
���������� I����* �#�#��� ?�51��� ���#	 ���
� 
    �� ��
�3�� @��
� '����� ?51���         ,���� �E�/�� ����� '� 
!��� ���# ��"� ��� ����

  ����� ,�� '�� ��+� � �"�/� ���R          ����#��� �����+� @������� ��!��� ������ 
� 
�
��)����� ,����   2�� �����            �����C�� #���)� 0��% �� ����+� <��5 �� ?��1� 

        ���� )������� ���
�1���� ���"��� 2�� 2�/ �%������� �
��3��� ���!��   '���� ���
     �#���� �� ��3�6              �����8�� ��������� ?�/���
 ��������� ���
!�� ���=� 2��

62�Heigerloch bei Hechingen H���� '�� 1945.4.23  ���� 2�� ������ 
            �/���+�� ���"��� ���� �1[ ��� ���� ������+� ���3�� ���"��� 4����� )�����

������+� �������.  

   ������ ��3
� �������+� ����        @���

 
�#�5��� ?
�
 '����+� '�3���� '����� Q
G��"����   ������ ��
�3��� ������� .    ���#� '�� Chigago   H���� 1942.2.12 iC&  �

	    ���	 '� 4��� ���"� ���      '��%�*� '(��)�"�� �� 
�5 ��Fermi    @����� 
�#
� 
          ��- �3��% ,��� ���� �������� ��%&�B�
 
�/��� ������ @��)�"����/�  2��� 
�

        2�� ��3�	 '��� ������ ��
�3�� �3�&� %���� ���Hiroshima   H����� ���
���� '�  
1945.8.6  #
 ���� 	          '�� ,���� ������� �/��+� @��
� '����+� '���&�� 0
����� 

 
�����	A�!.   
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17. 2   2�33
�4 )33�#��&1��33�����   ��33�������� 533� )33��,��� )33*�����  
 6�&��7��� Uranium & Graphite  

   G��"��� �� Q���� ����  7��#� '�
       ��#�
�� �� #�#� '� �)� 
�� �.   <���"� ������ 
7����%5� ?51��� 
��������� �	 '��
%�� 
��������� 0��% �� ����� � . ��""1��

      �� �#�� �� ,��� ���1:� ���"��� ���  �Graphite�      �#���� ��� �:
 ������� ��� 
     � ���� V
�� K�"1�� �"1�� �/��5����������.  G��"��� ���� �    ����
� ,��� 

 >���� JG���    �� �#�� ���
�� �� �� Graphite        ��% �#���� ��� �� ����� ���� ��&
 
���"��� ��#� ?�/ ����	 �����8 2�6 ��
�+� ��
 �=�GE	.   

               �5��� ��
E��  ��=�1�# '� #�!���� ?�38�� �� #�#�
 ���1� ������ ����
  �
 �"�C��� 
��������� 
�����+� 0(��� 	         0����/B� #���� ����/ ��
E3�� ��� �	 4

Burning Elements 0�1 ��% ?�/ '��� 
��������� �� �8�
���� ������������ 
 �=�����λ = 1/бNL  ��� �	 ��
� �=���� ��E� ��""1��� '�  �   ����� ��� %3

 
���������..��������� ��� �����"1��� �#���� '� ������ 0��% '� ��E�  2�/ �"
   JG��� ����/�� �=���% #3"� �W     �%-� ����� ���"��� ��� ?���! �@    ���
� ����� ��� �

 ���� ��&
Block    ��� �#��� ���  �Graphite  ������ �#����  Reflector  
    #���� ���/���� �����������6   B 2�/ �1�#�� 2�        ��!�/�� ����/�� �	 ������ $#��� 

 ������� ����� K#/���� ##���  ���/� ���
��� ��
E3�� �� #�#� #!�� ���"��� ��=
 
�
 �#�� ��Bor Steel��� ��
 �� �	  �Bor carbide �� �	 ��    ���������  �#���

��Cadmium   >���� ,�/�� '���   �Automatic 6      �� �	 ����"��� �1�# 2�Block 
   ��
E3�� ����	    �/
��� �5�� �#��� �=�"�;� JB��        ����8� T���3� �#�)�� ,���� 

G��� ����������� ��  =��/� ,���� �         ���� 0���%
 
�/��� '����� ������
 0��� 
 �G��"��  2�3
�� �
8�� ������� ���� ��
8�� ���"��� ����%&�K = 1  4����� 

7#/���.  

  �� �1�# '���       ���
� ?�38 ,��� #!�� @��
�� �	 ���"��� �     $�/+��
 �	 	 �"�� 0
     �8:�� �5�1� ���� 9�/
c� �551��� �����������     '�� ����������� �G�� ���

 ���#����� ����/�� #����� ����6H�..     
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� W  �	 � �
�	      G��"��� �� Q���� ��� �� ���"� 
#��    ����B��� '�� #��!���� 
  �#/����USA    ��B� '� Hanford  >#��� S��� �    ������ �
��3�� U235   ,���� ����5�� 

�� �5��Pu239.  

�     ���"��� ��� '� ����	   �� �8�5000  ����� 
����      ,���� ���"��� ��� S���� 
            ?���3� ����%�� 4��� ���"�� 4#���� <��C&� ?�/ ��(�
�=� ���%	    ��� ��8�

�����1.10+6 K watt.  

17 . 3 )�8�9 �: .����� !������  � );�/���� )(�	�  

         G��"��� Q���	 �� #�#� �E�/�� ����� '� 
����� '� #!���    0
������ ������� 
'������  �* ,���           '���� %�3��� ���� ������ �
��3�� �&/�� �5��� ,���� ���%�� I��

    �5�1 '� ����
  � 4����� ���"���4 �#3�� �      �=;� ��� �
3����� ���� ��"����� 
 ����+U�� #�!��"����� ����%�� ��.     

6��� ����� �G��" ��"����� ���%�� High Power Reactors  �E�"�� #��� 
  ��% Q�"��B ��+��=��    0���/B� #��� �   =�� ?�%�� �� �E�	�  �!����� ���%�� . �� �� 

�"��� ���� �G�   � ��)���� ��� '    G��"��� #�5��B�� �#=�� �%3� �    '�� ������� 
 =��� �
3������    
�5 �� �   ���
��� �1��
�� '� AE��      ���"����� ���%�� #����� ,��� 

  /� ��5��C�� '��     �	 �
�� ��
�/�� ���/
�� ���(�%�� �G�      A��E��� '�� �1#� 
 � ���"���4 �#3�� �          ��!������ 2��� ���� ��;� '3�� �	 ?!� ��"����� �   ����%�� 

���������     �� �#�!���� ������� �����%�          �����% ��� ���)�� 
�� �=�� ������ ��� 
   ����%�� ������� 
1E� ?
�
�           �����
%�� �����%�� ��� �
3����� '� 23
�� ��� 

� �����5���	�� ��#!� ���% 4] �=�����  

    ��
 4�!/�� 
/"�� ���% �#/���C   �
 2%�� ������+�B     �������� ��/G%�5SKE 
�             ��#����� ��!�� �#/�
 4���� <���% 4�!/�� 
/"�� �� 
C�� �� �	 �=
 #�53���

�������:  

 1 Kgr SKE = 29,3.106 Joule                                

 1 Joule = 1wse  =  1Nm = 1Kgr.m2/Sec2                         
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  �����%�� '������+� '������� 9���/
+� )����� �������# ?���/�Geo 

wissenschaften     
����� '� #!�� 6�2 �U     ����
%�� ���!/���� �� �Fossilizes 
 ?��3� ��12,5.1012 Tons�=�� ������ �  �7
��3� '!��������� #�5��B� ?�/  �
7,15 %=�� 23
�� ����� ��#����� �/ ?�/ 7
��3� ���� 890.109 Ton .  

X = 7,15 . 12,5.1012 / 100 = 890.10+9 Tons  

    
����� ��� ��6	   ?����� A�!   �� ���     >����� ����
%�� ���!/���� �� ����� �
7
��3� 4���� ���%  �9.109 Tons� W7
��3� 
�#� ����
�� ���%�� � �100��- B ��� .  

     �� ������� 
1E�� �(��%�� ?�
�+� ��=��      
����� '� ?!�� ��#
� ���%	  A��!
   @������ 
�=���&���
   �#�#! ����% A�
��� � � 2�6 �U      '��� �#�/��� ���%�� �:
 ��
� �

   �%1��� ��������� #�5��G� �E�/�� ����� '� ��
�!�6 ��%C� ����� '�  '�� 
����
������� ���%��.    

 
����� '� ��#������ �������� ������� ���%�� ����	A�!7
��3� �: 1,7.1012 Tons 

SKE  7��� '%C��      �%C� ������ ��� ��!/���� ����%�� �� �      ����% �� ���)�� �� 
 �#��450��� .  

       �/�� #��)�
 �
3����� '� �
!���� ���%�� ��%C�� 
=����!     #��!� ���%�� ������ �
       T�&��� @����� @��=�� �8� ��#3�� ��"��� �#�#! ����%�       A(��
%�� 2��6 #��� ��� 

�      �
3����� �#�#! ����#
 <���5 �� ���� A
�+� �      '���� A
�+� A(�
%�� �� ���%��
0��1�� ?��� ����� �=��.   

          � ������� ���%�� 2�� 23
� �:
 ?!� �E�/�� ����� '� ��	 ��   ��"����� ��#3�� 
 >�3�
%� ���� ���� �� ����>��;�� � �Theoretical  <�	 
����� '� #!��	 �(�� �� �8�

��&  G��"��� @��
� �  � ������� ��  ��"����� ���%�� �       ?��/ ���
� ������ ��� ��� 
   G��"��� �� ##� ���5�5�1B��      ��!�������� <
�%�� �� I�=�� 2�� �   ���E�/�� 

     =��� ���%��� ���
%��� ��+�� �(�
��� #�5��G��      JB�	 
���� ���� 9�#/��� 
�#3�� 
=�� 
�#3�� ���:     
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17 . 1.3�� ��
��  �%������ $
���
�%�	� �	%�3�� 7
%�  

Heterogen Reactors  

     G���"��� ��� JG
�� ������ ��� ?�/� Uranium Graphite  ����"�� 
heterogen�G��"� �	 ,��� $�� �,��� �=����� ���38�� ������ heterogen � 	 4
 �=
 #�53��� �	         ������/�� ������������ 0��% �� S��� �=��C&� .     ,���� ����� 

G��"��    �� 2�
� ���38�� ������ �       �=E�
 �� ���5"� ��""1���� ��%&�B� #��� AE
G��"� '� ��� K�
��� Uranium Graphite.  

 ��� '� ����	G��"� 4��� �"1��� �� JB#
 �#�#!�� ���38�� ������ � Graphite 
�R    ���38�� ������ �1D2O   �"�� ��5�1 ��� � Advantage     ���38�� ������ ���   ��=�	

     �3��%
 �����������  V
��	 #�!	� �
��       ����"��� ��� @��
 ��=�� 	 �C�5  �7�!/� 
��� #�#��� #!�� ���  Q���� �����&�� �����	 '�Chalk Canada.  

17. 2.3!�
����  $ ���
�
��� Homage Reactors  

 G��"��� ����     �=��� #��� ����!���� 6       #��� A� ��%&�B� #��� %��1 T��!� 2�
  ��""1��� ��/
���� �	�          ��R��� �C5��� ���"��� 
!/ @��
 ���"��� ��� '� 
=���� 

7
��3� ���%� 4���� 0����� �B�"�� �� ��� �� �30 cm    ��"��� �#���
 �@����� 

���������� �� �5��� <
 #�53��� 4	 Uranium Sulfate   �5���
 ?5�1��� 
 
���������U235����� ��� �1�#
 #�!���� ���� �1�# '� ,����  ?�
�	 #!�� ����� 

           � ,����� #��
��� ������ ��#�� ���� <�1�# '� ��� 2��+�� I�����    ��� ���"1�
           ��� �#��� �� �3
%
 �%�/�� �"�C� ����� ��� ����������� ����� Beryllium 

 ����������� T�����    G��"��� ��=
 
�/��� �3��%�  �=�	 �      ��
E�� ��)�W�
 ���� 
>���� ,�/���� �� <�1�# 2�6 ��� �#� Cadmium   '���!�� )������ Q�"��� �����
�

Concentration7
��3� <���% A"���  �6 2�50 kw <
 #�53��� ���"��� ��� ?��� 
��Core #�!��        Q��� <��%�/ K�/ �1�# '�	    F�1�� ����+� �� ���
� <E�� 

G��"��� ��� ������ Waters BoilerG- 4	 ��� ������  ..  

o b e i k a n d l . c o m



335 

17. 3.3!�
����  $ 7
%�� 7
%�   

 G��"��� ����    >����� ������� Q���� �� �� �   '�������� G��"�� �   9��/
c� 
   � �3�3/��
 '=� ���������  �6 G��"� B�   �� � �� Q�heterogen     ��=�G��"� �	 4	 

    �����/�� ����������� 0��% �� 9#/� .���"���         ��
E�� ��� #��#� �� '�
� 
     �1�# '� �#�!�� ��
& ��&
 
���������    ��#���� ������
 @���� K�/ �    ���� ���� 

              ������� �����&*� �� ;��/� #�
�� ,���� �"1�� ����� T"� '� ������ ������
    �� 4	 ���"��� ��� �1�#Core   ��R�   ��26     �=
 #�!�� ��� � 16  7
�E�� �   ��� 

 
=�� #/�� �� �%� 
���������1 cm�  <���%� 50 cm�   
���������� �5���� 
   ����
 ?51�10 %��   
��������� U235 '��5�� D 
     A�"����� ?�51��� ��� ?
�

      
��������� I���* ��������� ���E6 9#/�U238    I���* ,���� Pu239   �  ��� ����
  ��� ����������� Q��E� 	  =���E �� ���    '��
%�� 
��������� ������� '� D   ���=�� 

   G��"��� ��� ������ ?
����    ���� ����������� �!����� 9�/
c�  � �����   ����%�� 
��"������ 	 �������� ���%��
 ����������� I���6 41013 Neutron/cm2sec @�3�W
� 

   �� �1�# 2�6 ��;��              ��
E�� �����/�� ��"3�� �	 �G���� ��� �:
 $�� ���"��� 
     E
 Q�"��� 2�� �3���� �#�!�� 
�����������      ���"��� ���� K�/ �1�# '� ����	 � 

����   ��1E�
 #�)� ���"���  ����  Pomp        '�%�� �3�C� ��(�# '� ������ ,��/�� 
    4���/�� �#�
���
 ������ ��� ����/�  �(�# �=�
�� �      �����/�� ���%�� ��� ��#�� #��
� 

7
��3� 4���� �2000 Kw �� ��8�
 ,��� #�)� ���"��� ���� U� ����� �B� 
�/��
     ��""1��� ��
 
��������� ��
E� ,�/�� ���"���
�   ����C� ,����      �����+� ��� 

�������.    

     +� �� ��8�
 #�)� ���"��� ����"��         �(��;��� ��� #��#� I���* �551��� 0
Isotope          '� ���%��� ������ ��"��� ����������� ����8:� �����3� ,���� �#�#!�� 

   ��!��������� ����/��� ������� 9�/
+�.    dG/ ��)�	 JG8� ����  >���� �   ?��%�� �=;� 
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    �	 ?!� 
�    �=� �#�� ���� �� �������        '�� 
��C��
 
��������� �5�� �� ���"��� 
%���� �����/�� ���%�� S��� 2�/ ��=���� �������� �2000Kw ]  

 ������� ��  <�	 �� ��� ��6Gram Atom   
���������� �5��� �� U235 
  4����235   �   <
 #!��6,023.1023         ��� #/�� 
C�� ��%&��
� ��� ���� U235 

�% '%��4���� ��:    

       E = 6,023.1023.1000gr.200 MeV / 235 = 5.1.1026 MeV   

    7���- 
� ���� �	 ?!��        ��� 
����� '� ���)�� U235      ����%�� S���� 2��/  
2000Kw �� �#/�
 �����/��  MeV @�� ���"��� ��� '� �!�����@�� ,����]]   

2000 w .84400 sec = 1,728.1011Wsec                        

1Wsec = 6,24.1012 MeV                                   

 1,728.1011. 6,24.1012 MeV  = 1,078.1024  MeV                    

          = 1,078.1024 gr / 5,1.1023 = 2 gr.U235   
              ��� �����- 4���� ��=��� '� �����/�� ���%�� ��� S��� 2�/ �
!���� �������
��5���� � 
�����2 gr U235 .  

17. 4.3!�
���� $ ��
�
�� �-%��   

 G��"��� ���� � �       ��- ����������� 0��% �� �=�G��"� 
���/�
���   ,��� ���� 
     G��"��� ��� ��%&�� #���� ��""1� ��#
�    �	 ?!� �     ���"��� �5����� �� ���

?�51���� ��
E� �� JG8� ����5�� ��%&�B� �5��� �	 Pu239�E ?
�
  ���� Q�

����             
���������� �=! �� %�3��B� 0��% �� �5/� '��� ����������� �� U238 

G��"��� �� Q���� ����   '�� #��!�� ������� USA. Los Alamos  �C����  
�(���� 
�������� 0��% �� <����/� �� �(���� �#���� ��� ����/ ��� Natrium 

  <�	�R   B <�+ #�
�� �1  ����������� F��� � �       4���� ���=5�� ����/ �%3� ,���
97 °C7
��3� 4���� ����/
 �1
���  �865 °C�B ���"��� ��� '��  �	 @�� #!�� 

     B @��=��� @���� �+ #��
��� @��� &���� ���   �� �#�� A�   �Naturism   �
3������� 
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    ����� ��	 
��
 ��� ����	�. ��      ������	� �� ����� ���� 
�!� �"   ���
#$	� 

%&'�	��
	�&	� �
$��( )A, B , C .  

A ��������  	 
��
���� 
������� ������� ������� 
������   

  

  

  

  

  

  

  

        �����	� �� ���	� �!�	 �
*!��� )
�% �+�& )
�%	� ,!-"   �
*�	���& 
��& 
/�0��(.. �����	� ,!�	 1�
&$2� #�3� #��� ����" : /��
��
�
	� U235    4%�'�	�

"���'� #����5� 6	!�� �����	� ,!- "�#
(" :�
#��	� �
�
(+	� ,�
�	�.  

�����	� �� ���	� �!- ��" /�
��
�
	� 
%�� ���&�
  UO2 7���	� 4%'�	�
�� /�
��
�
	� #
��5            !2���	� ��� ��8	� �
���+�� 4	��3 �� ����$� #���	� ,!-� 

     4	��3 �� �� 1
3
	���'�+�    �� )#��( Zircon        ��� 
�+8��2� #��� 9��& 7&$ 
	�       ������	 �
����&	� )
�#	� "�
��� �� �'#& 2;( �'�# ..    	� )#
#�	� 4	��<	� ,!- �& �

�
����   (
�<&� 1�
&$2� #��� �  ��( 9� ��   =�(	�<�����       ,��
� =��$ �'�# �� 
     9�&
�	� +>�	� "$& )#�*��	� �
#��	� �����	�5 +>�	� "$& )#�*��	� ,�
�	� ,!-� 

       6	!�� "���'�� "3�	� ?�� �� ���&�& )
�
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First generation���� ��	� H
*�	���&	�� H�
I
�	� �   

��+&� �
��$&	 ��
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�����	�"      ���� �
*	� �� �
���	� ���%�� �����	� "   ����	� �
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 "��
�$&	� 6�&    (&	� 1
+ �
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$	� �.  
>& 6	!�� 
   ����� #

(& 1
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+ �� )#
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<& C����& �*
#( 
��%��	 �(�<	� �
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C ��������  	�� 
������ 	� �������  ����������� �  

A  ����	� /�� ��"          �� �*&��	� �

�
$	� �3�+	� )
#3 7	A #��
 �

�
$	� �
���	� 
�����	� ,!-5"	� �
( #*�& �&	��  �900°C to 850°C� L   )
�
�$	� ,!�- M�&�

       �����	� ,!- �
��� /
�%&� H��( 7	A #��
 ���&
�	�"       ,!�- 4��� ���� ���
� 
   ���&
�	� �3�+	��   �� 4��40%    +��	�� �*&��	� )
�
$	� ��� � )  �����	� �
<( �" 
�
	�$	� )#�*��	�.   

A    #

(&	� #��� �  �$	�%	� �����	� ,!�	"  �(�<� ��#(  �-  I�>	� 5     I��>	� �!�-� 
       	� ���&
�	� )
�
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 �� 4*
?
        #����( +�&�'2� ��
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! ����&& 
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�+8�2� ����& �� �*&��	� "����8N  2 6	!�� �$��
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 4	�+�	� ,!-� /
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   �����	� ,!�	 1�
&$2� #�3�" �      ���%��	� 4%'�	� /�
��
�
	� 
%��� "!'
 
� ��8("�   	� 
%��( �+��'�   �Thorium5  
�	� ,!-� "�     ��� �&;�� ���  7

G<$2 ���%������	� �!- �� �.   

  �����	� ,!- "���'�" �! "�    ���&
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� ��
&�
�    
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 ����
%�� #������        
�3�� T"� '� JG
� �=�� ������ 0
� ��� �   ��- ��   ��%&��G� ��
�3

   
��������� JG8�U238   �� �5�� S��� �Plutonium..Pu239�     �5����� �� ,���� 
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%�� #����� �1�# 2�6 #���� ����������� T����	    ��� ���� �
�

�#������ ��������� ��%&�B� #���.      

             ���"��� �����/ S���� ���"��� ?�/� ��%&�B� �3%�� %�/� '� ,��� ���� 
��   B ����/�� ��� #��
�         �
!���� ������� ����������� V
�� ������ �+ ������ ������ 

 I���j� ��)G���D    � �	 ?!� ��=�� R        �#�� �8� ��"��� ���()! ��#�� #��
� �#�� �1
  
���=��Helium      '��;��� ##��� ��#�� '��� Z=23�      ���� �������� ������������ 

 �=
 
#%5��  B �#����  �  % �� A�E  �=���6 ���3�� BD   ��=�� 	   �� �#��� �1Natirum 
 G��"��� #��
���     ��(�#� ������� ������� �       #!� #3� �(���� �#���� 0��% �� #��
��

   '��� �/�  + �!����� ��
��5��   >#! ?�5�� �� <    �(���� �#���� A� ������� �.  ���� 
   �(���� �#����	        � 0��% �� ��"����� <����/ �GC��� �	 ?��� �1  4���/�� �#�
��


W     �� ��
���� 
�
� 4��� ��1
�� I�����        ����%�� #����� �����/�� ���%�� S���� #����� �
��(�
�=���.  

17. 4   �� <17
=� >�?1������ 5� )(�	�� @"��)*�����   

    G��"��� ����# '� ��3��� ?�/��   ������� 	>��  �=��� ��� �    0�% ����# ,���� 
   	 V
�� ��%&�B� ������          �������*�� �����+� V��5���� ��%&�B� ���% ?�� �

��#�5��B���      9�#/6 '� <�:
 ������ 	    ��%&�� ����� 4�     ���"��� �����/ ���% S��
>#!�� 7��#�      G��"��� ��C&� ���#
 �(��	 '� �� ������� �       ����"��� '� ������6 '� JG8� 

  4�����Harwell �� �      2�/ �5�1 
�5� '�
 4�   ��� �5�� S��  �Plutonium 
            �=�� ������ ��%&�B� ���"� 0�% �� �!����� ��"����� ����/�� ��� ����50 %

   ����R���� ���
+� �(�#�� �(����
�         ���B� '� �#/���� ������+� ���B��� '� ���� 
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Idaho USA    �������� ������� ��� ��5�/�� 4����� ���"��� ����/ ������� 
7#��� �C&� ��
�� 
�
� ��"������  4���� ��"��� ��#3
 ��(�
�=� ���% '%��250 

KWh      ���� '��� 4��� ���"� ��	 �=(��
 '� �����&�� ����� '� ���� 1954 
	7
��3� 4���� ��(�
�=� ���% S�� �500 KWh   �����+� �/�5���� 2�6 ��#� ��6� 

       G��"��� �:
 ��3� �	 A�%��� ���%�� I���* ��(�
����  � ������� ��  �6   ��@�&��6 B
            �������� ������&*� ��%1	� ��
��5 A� ��(�
�=��� ���%�� #����� ��1
�� I���*

          
��������� �5�� �� #/�� 
C�� <!��� �� �
�3� ��=��235   G��"��� '� '��5�� � 
7
��3� 4���� 4��� ������� 4���� �����/ ���% �25.106 KWh   ����% ���#����� 

0���/�2,5.106     4�!/�� 
/"�� �� 
C��   )�     
�� '� �/�� �;�16�5 (   0
�� #3��
              2�/ ����
�� ������� '� ���% �� 
����� 
)�� ��� ���%�� @�5/6 0��% �� ������

 ���3007 .  

17 . 1.4!�
���� $ �%����� �%�����   

        G��"��� �� ��!��� ��� '� ��"�� A���� ������� #53
�    '� �#�!���� ������� 
 
������ �	 4���E�� ��3�' ��;�  2�� ���5� @��
G��"����2��+� ������� .  

  B 
��5��� ��� � ���1 7��8�   G��"��� �� ��        �/��&� ����� '���� ��#���� 
>�!������ >����� ���     0����� #��	 ��� 	   G��"��� A�E��� '� �8��   ������� ������� 

    �="�E� �=�#�! %�3� ����� ,����D          ��8���� ?���1� ?
�� JG8��  )  ����"�
&����
��  (             �������� �������� A�!����� 2��6 #���� �:
 ?!� ��(�
��� ������*� 
)(Nikolajew, Blochinzew 6H�..  

17. 2.4!�
����  $�%?%	��(� �%�����   

7�(#
� G��"��� ��     B 
����� �� '� �������  � ���1       B ����+� �� '� �=E�
 �� 
>�!������  >���� B� � � �6    ������� �� <�  �	 ���� ����!�����   #� ���    #�
 �� ��36  2��

$�1	�       �� ?�/ ,��� JG
� ��� ��� ������	 �8� ��#�
�� K�
 �� ���/� ���%� 
 �!������ <
�%���   ��
� '��� #�
�� ��= B�  )� � =��� #� 6 �/��� B� B� �      <��� 2�3
� 6 B
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 >����	 ������� >�(�#
� ��:   ?�3�� 	 �� 4  �Core     ��8� 0����/B� #���� 4���/�� : 
U235,  Pu239, U233, U238 et �#��
��� ��(�#��   4����/�� �#��
��� ,���� 

+�� ���%�� �����&*� ;"/� 
�/��� ������ ,�� �� �� 
�6H�..  

�� �  G��"��� ���� A
���  + ��)����*�        ���!�������� 
=��)��� 
�#�� )����*� �
'& �� '� �5�1���@G��"��� '� �5�1� �  ����"� �8� ������� Calder Hall 

��� ���"��� � 4���� ���% '%�140 000K w   ��
&��� 2��� �3���� ���5�� 
 ������ ��(�
�=���.       <��� 
�� �� I�#)� ���"� ��&
 #�!�� 4����� ���"��� ���� 

 0���/� #���� 4�/�120 Ton  ��
E�� ��&
 ����5� '��
%�� 
��������� �� 
      �=� �5�1 %��1 �#�� �� ��&3
 �"�C��      ��� ����"���     �� �#���Magnesium 

  �"1���	 �� �1  �Graphite�     #��
���� ����/�� �3��� 	     ��� )��- ������� �1 �
CO27
��3� 4���� A"��� %CE �/�  �7 at  � ��� 0�"� �!����� ����/�� ,���� �

340 ºC .  

 B ���         G��"��� �� �������� ��5�"��� �� '� �1#� �	 #��� � ��)����*� �  ���� 
     #��	 �� �� �����   G��"��� 
�� '� 0������     A!����� 2�6 #��� �	 ?!� . +��   
��

                '�� k���"��� ���� 4����� '(��)�"�� ?��%�� 2�� ������� <
 ���� �� ,�� ��
A!������             '�� ������/�� ���%�� ?�/� ��� '!������ '��� �/� JG8� �#!� 

     ����%&�B� ���"�� ����������� ��� ?�/ ���"���D   /�� ��#3�� �=����	   '� �����
G��"����������� .  

17. 3.4 ��"*   �*
���!�
���� '� �%������$ �%�����   

)      � ��R���� ?����� F�1 �/� ����#�����     G���"��� ��%&�B� #��� ���� � 
������ ��
�3���(.  

 B ���   0�%� 6  BF(�51   ���� ������          '�� 0����/B� #���� ���� �	 ���� 
G��"����������� .   

 "�� 2�/      G��"��� '� �����/�� ���%�� #���� Q�E�� 
=�    '����� �/��
 ������� 
      A����� �/�� ��� '� �����  ���� ���(��)�"�� ?G%��       
�=�=� ������ 
=�� �5�1� 
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     G��"��� '� ��%&�B� �G��"� ����#� F�5�1B��    �%�
��� �B#�����
 ������� 
      #���� ����*� �=��="� 
="�� 2�/ ,���� �/��&���     
������� ?�
%��� T#�=���� 4

A������ �=��� �C�
 '���#�� ?����� ��� �
�� ���� 
���-�.    

6     G��"��� '� �����/�� ���%�� I���6 ��       ����%&�B� ##� 2�6 JB�	 #��� ������� 
 X     #����� �#�� '� ����"����U235� ,����  Φ �    �� ����������� �G�� �	 0�#� 4	 

����� '� ������� ��� 
��������� �5�� �� ����8��� A
�� 
235U.  

 >���� ����   
!/ ���"� �	 �1cm3    JG8�� #��� �#�� U235    7##�� ����%�� �   ��� 
   4���� �����������n �     �����!�� ���� �        4����� �%����� �����
 Q����V 

               0�#�� �	 ���� ����� ����%�� ������������ ##�
 �%������ ������ ?�E
�
 '� ������������� 
������������ ��#����� ?�/ ����8��� A
��:   

              Φn = n .V [1/ cm2sec]                           

 ����%&�B� ##� ��	 X '���   ��������� ���#����� 2�6 #��� ����8��� A
�� 
���
�������:   

                        X = Φn.б.NA / A [1/cm2.sec]   

  � '����� P�&��������      ����%&�B� ##�� ��#����� ���X   ?!� ����� 	  ���� JB�
    ����������� �����! ���Φ  � '"5��� ��%&�B� ���� ,����б �  ������� ##�� 

 
����� '����5�� �� A
��  
���������U235.  

       ��6 ��3� '(��)�"�� '(�#
�� �/��
 0������  ����   1�E �� �#���    �=���� �	 �=��
 4����d.   

 �����!
 ����     4���� ������ ��#� ...i         �	 0���
 �1#�� ��� �����!�� ���� 
4���� �#���� '� F�5��� �G��"� 9#/� �#���� '� 
��� #/�� �����:   

                      Δi = 1.б .N                

 
�3�� �:
 $�� ����б.NL.�������� F�5��B� ��
�8 4���� ��#����� ��� �� :   

                                    μ = б.NL   
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 ��
�8�� ����.Absorption Coefficient = μ    �B#������ ?��/ ����#�
 
��� ������ 4���� ��(��)�"���'"5��� ��%&�G� '
������:   

 Σ = б.NL                                                                            

 

    %&�B� ���� 4���� <�	 4	   '"5��� ��б ?�E  NL '� �#�!���� $���� ##� 
?��� 
��� 
!/�  ��/G%5B� ��� ,���� NL������� ��#����� 4���� :   

                 NL = ρ .NA/A                        

������� ��/G%5B� P�&:   

NA     = ��
�8	 ��#���NA = 6,023.1023. 

A     = ����� �5��� ������ ������  
����A = 235. 

ρ =       
��������� ���8�U235 4����:ρ =19,04 gr/cm3 . 

б  =     590.10-24 
��������� �5��� '"5��� ��%&�B� ����  U235.  

λ  =     ����� ��- �#���� '� �����!�� 0�1 ����� ��%.  

NL   =   '� �#���� ���� �	 $���� ##��� 
���������� ��- ?���.  

 �� ����    ��- �
��8�� ���         0��1 ����� ��% �� ��/G%5B� ��� �� ������
 �##/��� �����!��λ������� ��#����� 4���� 4��� �#���� '�  :   

                            λ = 1 / η = 1 / б.NL  

         <
 #�!�� #/�� 
��- ��%&��
 ,��� ������� ���NA/A     ����% '%�� ���� 
������� ��#����� 4����:   

            E 1.gr =Φn.б.NA/A.1                           

     
��������� �� 
C�� ��%&��
�U235    G��"��� '� �5�1 ��� �    ����%�� ������� 
     7
��3� 4���� JG
� �
�/ �%���� ���%  %�/� '� � 190MeV�     ���#����� ?��/ 

�������:   

                       E1.kgr =Φn.б.103.NA/A ≈ 190 MeV    
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���  B ���	         ����������� 0�#� �	 ��� ���� ���� Φn  G��"��� '� �  �������� � 
 �%������ ���%�� '
��3��� ##��� ���1	 190MeV7
��3� 4������ �� ��1:��� ##��� �

        4���� '��5��� 
���������� �5�� �� #/�� 
C�� ��!"��� ��%&�B 0
���� �/��
 �#/�
 ���% '%��MeV 4����  200MeV/ 
�� �/�� ?�)16�5 ('�����:  

               �	 ,������� ����% ?�/ �	 ��%&�B� #�
 ����� ��1 �	 0����� 0��% ���
��%&�B�� � W     2��� ��� �	 ����� 0�� �    ����� ��1Δm     ��#�/� 4����� '%�� 

������� ��#����� ?�/ �!����� 0�"��:   

                        Δm = 236 - 235,8271= 0,2233.Unit  

�W� 4���� �#/� �� ���� �931 MeV ��W    ������ �G��1� 0�� �0,2233 
7
��3� '%��������� ���%�� �:  

              0,2233 . 931 ≈ 200 MeV                       

 �	 �#�	 ����	J%�
� P�&#/� ���% ���� �#!� ��� ���������� ������ 931 

MeV �� ��(�#
�� ������ �#/� �	 ������� ���������� ��(��)�"�� ��#����� 4��:   

                U0 =10-3 kgr mol-1.1/NA= 1,66055.10-27kgr         

             �	 ���#��� ?��/ �������� ����/�� 4���� �
��%��� �#/��� ���% ��� ��  ���&
E=m c2 :            

           Eu0 = 1,66055.10-27.(2,9987.10+8)2 = 14,924.10-11Joule  

                       1Joule = 1,6022.10-13 eV                                      
      Eu0 =14,924.10-11J / 1,6022.10-13J/MeV  = 931,5 MeV            

              ��������� 
���������� �5��� �� #/�� 
C�� 0���/� �� ����#!� '��� ���%���
190MeV     �=��/� �	 ?!�6  �� �#/� 2�  �MWsec      �/(B ?�/ 4��� ����� '� 

��#/���:  

                1eV = 4,45.10-26 kWh                          

                   1eV = 4,45.10-26.3600sec =1,602.10-22 KW sec  
 1eV=1,602.10-19MW sec                                            
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   � �/�� ��
���� %��
�������� �    �
��%��� �����/�� ���%�� ��# ..    ����%�� ��1:�
 �������� �%������190MeV          ��%&��� �	 0���/� ����� �� S����� Q��E�� ?�
 

 
��������� �5�� �� #/�� 
C��U2354����� ���"��� '� �  ����%�� T��� 200 

MeV������ ��
�3�� ��%&�� �� �!����� �    �#�/�
 ����%�� 4����� ����  MWs 
 ��#������������:   

                190MeV.1,602.10-19Mwsec = 304.10-19Mwsec  

              ��%&��� �� �!����� �����/�� ���%�� ��#� �:
 ��3� �	 �#3� ���/�� ��� #�
�
             ���#����� ?�/ �����/�� ���%�� ��#� ���� 4���� 4����� ���"��� '� #/�� 
C��

�������:   

                                 N = Φn.б.103grNA/A.304.10-19               
                  б = 590.10-24   ..  NA = 6,023.1023                              

                 N = Φn .590.10-24.103.6,023.1023.304.10-19/235          
                 E = Φn4,596.10-14 Mwsec                  

��  �!������ ?�/ ���  G��"��� @��
 � ������� �      '� �����/�� ���%�� ��#� ������ 
���"����    #����� ���� ������ ,���� M     � ����"��� '� ��������� R    ���#����� ��1

������� ��
��3���:   

               N = M.Φn / 2,2.1013 [Mw]               

         � �	 0�#��� ��� ��6 ,�� 2�� JG8� �1:���     '� ����������� %������ ����	  #�/
G��"���� 4���� ������� Φ = 5.1013 [ 1/cm2.sec]�   ���� '�� #!�� ,���� 

        4���� '��
%�� 
��������� �� 0���/� #��� ���� ���"���264
C�� �   ���� '��� 
   #!�� ������5 %    
��������� �#�� ��U235   � '��5�� ?51��� W   
��������� ���� �

/��5�� '��5�����/�� ���%�� ��#� S��� 2�/ ��%&�G� �� ������� ��#����� 4���� �  

                       246 . 5 / 100 = 13,20 [kgr]      

             ���#����� ?�/ 4���� ��� #����� ���� �� �!����� ����/�� ���% ��#� �����
 �G�	 �������� ��
��3���:  

 N = M.Φ / 2.2.1013 = 13,2kgr.5.1013 / 2,2.1013 = 30[Mw]  
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           ����������� 0�#� �	 ��� ���� JG8� ����� ��#�	 ��6 ��	Φ     4���� ���"� '� 
4���� �����/�� <���% M = 2Mw �    ��%&��B� �	 0����/B� #���� ������ : 

      4���� ���"��� ��� '� �#�!���� '��5�� 
���������: 3,5kgr �  � W  �G��� ���� �
� 4���� �3�#���� �����������'����� �/�:     

Φ = 2,2.1013.2Mw / 3,5kgr = 1,3.1013[1/cm2sec]  

�������            ������� ��#����� �1:� ���/�� ��=� ���"��� ��� '� ����%&�B� ##� ,��� 
X:  

                                    X = Φ.б.NA/A =   

X = 1,3.1013.590.10-24.6,023.1023/235=1,96.1013                  

                               X ≈ 19,7.10+12[1/sec]   

7
��3� 4���� �� ���� �20.1012����8�� '� ��%&�� .   

17. 4.4  �� "��� '� �	�-
����!�
���� #
��$�%�����   

6    G��"��� @��
� �
!���� #����� ��    � �	 ?!� ������� R    T�#�� ��
��B� ���
 �1
    � #����� ���� @��
�� �
�          ,����� �
 ��!�������� �=!��� �� �5�1 ?1��� �	 ?!

  
�� �=!��� �����(�     �	 ?!� ,���� �  '"5���� ��%&�B� ���� ����    #������ ���=
Cross Section7��C5  �>#!  �	 F�5��B� �� ����������� Q��E ;"/� 2�/ �

    �� �� 
=��� 
�3��� %�3��B��    ���/B� #��� ��#/� 
��5�� ����# ���"��� 0� ���� 
         ���	 �	 V(�"5 �	 ��
E� ��&
 �"�C� �#�!�� ���� #������     �	 ��&��� �����%�	 

            
��!�� ?/�5 
��������� �5�� �� ���� ���1:��� ��� 0���/B� #���� ����-
���
��� Crystal   �% �� ���� �         <��"�-	 '� <��& ��C��� <����/ A"��� ���"��� 0

      �E	 ?
��� �"�-+� ��� 0)��� B 2�/�7��         '�� ���� 0����/B� #��� Q��E
 �
 �� �#�� �"�-+� '� <��� #�) ���"��� �Zircon,������ 0�/��� �  Q��"���
 ���� 

 2�6 ����/��500 C
��������� ������ ��& ��C�� �  �����+� ##��� �	 
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